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< NLS, FINTNLS.NLS.565, >, 23-Apr-78 22:59 JDH ;;;;
FLILE fintnls % L10 to <rel=-nls>FINTNLS %% (L10,) (rel-nls,FINTNLS,) %

02
%global refsg 03
REF 04
tada, subda, cflda, namda, litda, msgda, echoda, ltvsda, vspcda;
0%
REF rawchr, tda; 06
%.--...DEcla[‘ationsu-..-% 07
RKGLISTER 08
al = 12, %working register% 09
a4 = 15, %working register? 010
rl = 1, %working register?% 011
rZ = 2, 3%working reagister$ 012
r3 = 3, %wWorking register$% 013
r4a = 4, 3Iworking register® 014
r5S = 5, %working register? 015
re = 11, 2record pointer2 01¢
b= 7, tpattern stack® 017
s = Y, #general call stack pointer$% 018
m = 107 %Imark stack pointer% 019
EXTERNAL nls, start, init, qt, st, rentr; 020
DECLARE randm = 0, sequential = 1; 01373
%--...Entry DDintFS..-.-% 021
(dnls) PKOCEDURE; %start displav NLS% 022
nlcevice _ devsri; 023
niparse _ TRUE: 024
GOTO nls; 025
END . 026
« (tnis) PROCEDURE; %start Typewriter NLS% 027
nldevice _ davtiex: 028
nlparse _ TRUR: 029
GOTO nls: 030
EilD . 031
(duery) PROCEDURE; %start query system NLS% 032
exquery _ TRUE: 033
nidevice _ devtiex: 034
nlparse _ FALSE; 03s
GOTU nlsy : 036
END . 037
$eeeeslNLS 1Nnitialization eeese% 038
(1nitnls) PROCEDURE; %start up the worldg 039
% This is the procedure which is called in order to start up NLS%
040
femmmes e ————————— 1 041
¥*1VICANNOT HAVE LOCAL VARIABLESI11% 042
(1nit): %label inserted to avoid the first instruction in the
procedure which verifies that the stack pointer is reasonable%;
043
(nls): %pseudonym for init%; 044
(start): %pseudonvm for init% 045
'JSP r1,110init; %set up 110 runtime environment$ 046
% go start the world % 047
startup(); %does not returnt 048
LOCP 'haltf; %just a precaution? 049

END. 050
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(frentr) PROCEDURE; 051
% come here on REENTER command % 052
(rentr): 6532
IF NOT continue THEN 054

BEGIN 055
'J5P r1,110init; &initialize 110 runtime environment% 056
typeas(s"
Y?u must QUIT NLS before vou can REENTER itl s
"y, 05
LOQP thaltf; 058
END 059
FLSE GOTO init; 060
END. 061
(startup) PROCEDURE: 2initialize the world: 062

tget the device type, initials, and Adirectory name of the user.
[nitializes the character input/output translation tables, using
initch, initializes the rubout and control-C interupts, viewspecs,

changes mode to work station for NLS, if not continuing.% 063
e ——— % 064
LOCAL 065
fileno, da, f1, char, string, pcap, srr; 066
REF fl, da, srtr3; 067
LOCAL STRING gsCS02, locstrc2001; 0686
LOCAL TEXT POINTER pl, p2, 03, p4; 069
* 1nitialization done every startup or re-startup % 070
ON SIGNAL ELSE % Close files and issue halt jsys if error in
startup % 071
BEGIN 072
TF sysmsg AND Csysmsgl.M AND Csysmsgl.L AND Csysmsgl.i >=
Csysmsgl.L AND Csysmsgl.L < 200 THEN typeas(sysmsg); 073
(strthit): 074
1J5YS 147B; %Reset jsys== cannot use symbol because of
conflictg 078
LOOP thaltf; 076
%In case someone is foolish enough to try to contnue%7
017
END ; 078
% misce. stuff % 079
FIND SF(*arcstr*) ; 2dummy successful FIND% 01924
lhostn _ hostnumber(); %save logical host number2 080
tenex _ tenexverno(); 082
string _ 03 083
IF continue THEN condevline(FALSE) %check for line number change,
don“t call initdis% 01853
FLSE % this stuff done onlv once % 084
BEGIN 085
% get user & console number: and set some nice globals § 01374
gjint; 097
console _ r4; 098
cuno _ rl; 099
nlmode _ tvpewriter; %in case needed for error msgs$ 091
frawchr _ $getchar; %default lowest level input routine 2
092
inpt _ $input; %symbol conflict% 093
IF NOT autostrt THEN 094

echon(); % turn wakeup on for all characters % 0495
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% sa2tup user info, ident and user name string%
IF SKIP 1dirst($userstr + chbmty, cuno) THEN
userstr.L _ slngth(Suserstr + chbmty, rl)
ELSE *userstr* _ NULLj;
TF t2v3flag THEN
BEGIN
*locstr* _ "<, *userstr*, ">, 0;
lrcdir(0, Slocstr+chbmtv);
logdirno _ (IF NOT rl .2 6B10 THEN r3 ELSE 0);
END
ELSE
BEGTH
logdirro _ cuno;
END;
IF exquery THEM % doesnt need an ident %
BEGIN
*initsr* NYXX":

char _ “X-1008;
cinit _ 03
cinit.cintl _ char;
cinit.cint2 _ char;
cinit.cint3 _ char;
END
ELSE % get the ident of user %
BEGIN
getuident(cuno); %get user’'s ident2
identwheel _ FALSE}
IF intmsf THEN %startup message =-- intmsg string
initialized in this file%
BEGIN
ipsout(chhmty + Sintmsg):
crlf():
IF nlmode = fulldisplay THEN
BEGIN
tvpeas(fintca);
LOoP
REGIN
IF rawchr() = CA THEN EXIT LOOP;
ipbout(”?);
END ;
END;
END;
END;
setup user=-options or use system standards %
IF exquery THEN uoreset()
ELSE
IF NOT uoget() THEN uoreset();
% now set user-options page to copy-on-write %
uoaccess(Suserdata / 1000B, racc .V cwacc);
% terminal setftup %
%get device®
iF exauery THEN setdev(nettty) ELSE
getdev(console, nldevice);
%2 move to setdev when dcw does new tab stuff %
IF nlmode = typewriter THEN setahs($stdtab);
% create timer fork %

[

0105
0106
0107
0108
02138
02139
02145
0214¢
02147
02140
02141
02142
02144
02143
0109
0110
0111
0112
0113
0114
0115
0116
0117
0118
0119
0120
0121

0122
0123
0124
0125
0126
0127
0126
0129
0130
0132
0133
0134
0135
0136
0137
086
01889
01890
087
088
089
090
096
01826
0100
0101
0102
0103
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IF nlmode = fulldisplay THEN inittimer(); 0104
% set character tables from user option page % 0138
initch (nldevice); 0139
? Initialize interrupt system? 0140
setinterrupts(); 0141
%det mode, system name% 0142
*nlsnam* _ "NLS"; 0147
IF nlmode = tvpewriter THEN 0143
nlstyp _ nttvp; 0148
[F NOT nlparse THEN *nlsnam* _ "“QUERY"; 016%
nlsshn _ getshn( Snlsnam )’ 01405
% set viewspecs from options file % 0166
sysvspec _ stdvsp: 0167
sysvspecCl? _ stdvspll1; 0168
% display area initialization% 0169
dacnt _ 0; 0170
intdafl (&tda _ newda()); 0171
% initialize fields to standardé values for a file window
% 0172
END; 0173
% allocate a block for the correspondence list % 01955
clisth _ getblk( (clistsz _ 200), $dspblk) + bhl; %100
entriess 01956
% initialize display and work station
or control character output control% 0174
initdis(); 0175
% startup back end % 0176
startbhack(0); 0177
% start or restart measurement% 01900
meastart(); 01901
% gel user”s initial file or open after REEHTERS 0178
IF NOT exquery THEN %only if not Qquery from exec% 01179
QEGIN 0180
LF NOT continue THEN 0181
BEGIN 0182
FPROTOCOLS 0183
curmkr _ 03 0184
curmkr.stfile _ dpyarea.dacsp.stfile _ fileno _
openid(); 0188
curmkr.stpsid _ origin: 0186
curmkrCll _ 1; 0187
&E1 _ Fflntadr(fileno); 0188
*locstr* _ NULL: 02149
filnam( fileno, $locstr )j 0189
pushfrring(dpvarea.dalink, 5locstr, fileno); 0190
readfrring(dpvarea.dalink, 0 : &srr); 0191
pushsrrinag(&srr, dpvarea.dacsp, dpyarea.daccnt,
dpvarea.cavspec, dpyvarea.davspc2); 0192
tPROTNCOL S 0193
% check for new journal mail% 0194
latfdb (fl.florig, 1000024B, 5r3); 0195
I7 r3.0jdelf THEN %new mails 0196
BEGIY 0197
r2 _ 03 r2.o0jdelf _ 13 0196
chnfdb (fl.florig, 248, 2, 0); 0199

*gs* _ "VYou have new Journal mail"; 0200
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string _ $gs;
FND;

%2 do initial prrocess commands %

CASE stupstr.L OF
» 02

BEGIN
ON SIGNAL ELSE EXIT CASE:

FIND SF(*stupstr*) “pl SE(*stupstr*) “p2

p3 _ origin;
p3.stfile _
p3C12 _ 1;
caddexp ($pl, $p2, Sdpvarea, $p3 );
IF p3 = endfil THEN EXIT CASE:
p4d _ getend( p3 )3
FING SE(p4) ~p4;
auxstartup( 5p3,
END;
ENDCASE:
ON SIGNAL ELSE;
END
ELSE
FPRCTOCOLS
IF NOT openall() THEN
err($"Can“t open any files");

dpvarea.dacsp.stfile;

$nd );

END;
continue _ FALSE3 %set true only by HALTS
% transfer to start command parsing?
IF nlmode NOT= typewriter THEW
dstart(string)

ELSE tstart(string);
END .

%eeeeeNLS pre-initialization and SSAVE code eeess%

SET lowsegtop = 120B, symtbltop = 116E;
(saveit) PROCEDURE; %code used at save time?
(st): % entry point to do partial initialization prior to

bndchk _ FALSE:;
GOTN tt;
(qt)? % entry voint to do partial initialization prior to

% dont do boundary checks %

bndchk _
GOTO

tL3
(tt): % entry point to do partial initialization prior to

TRYE3 % do boundary checks %

% set things up so can make calls %
1JSP r1,110init;

SIGNAL ELSE

BEGIN

onN

IF sysmsag AND Csysmsgl.L <= Csysmsgl.M AND Csysmsg].

2007 THEN
typeas(sysmsg);
1JSYS 14783 2Reset jsys-- canhot use symbol because
conflict?
LOOP 'haltf;

0201
0202
0203
0204
0205
0206
0207
7 0208
0209
0210
0211
0212
0213
0214
021%
0216
0217
0218
0219
0220
0221
0222
0223
0224
0225
0226
0227
0228
0229
0230
0231
0232
0233
0234
0235
ssave %
0236
0237
0238
ssave %
0239
0240
0241
ssave %
0242
0243
0244
¢1378
01379
L INC1,
01389
01390
of
01382
01383

%In case someone is foolish enough to try to contnus%
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01384
END; 01385

% set up rawchr for interaction % 01925
&rawchr _ Sgetchar; 019226

% initialize character tables and terwminal stuff% 0247
initch(devtiex); % for query and general startup % 02448
initbthl()? ¢ will be overlaved by useroptions data 2% 0249
feadbk _ defdbk; 0250
echon(); 0251

* check for loading page boundaries overflow % 0252
intmsf _ FALSE; % no warning initially % 0253

IF bndchk THEN 0254
BEGIN 0255

IF Suopstart >= Suserdata THEN 0256

BEGIN 0257
loderrm(S"HIGH SEG LOADS IY USER-PROFILE PAGE™); 0258

intmsf _ TRUE; 0259

END 3 0260

IF (Senduop - Suserdata) > 1000B THEN 0261

BEGIN 0262
loderrm(S$"USER-PROFILE PAGE TOOD LONG")3 0263
intmsf _ TRUE; 0264
END; 0265
IF lowsegtop.LH >= symtbltop.RH THEN 0266

BEGIN 0267
loderrm(S$"CODE RUNS INTO SYMBOL TABLEM™); 0268
intmsf _ TRUE; 0269
END 0270

ELSE 0271
IF (lowsegtop.LH + 2000B) >= symtbltop.RH THEN 0272
BEGIN 0273
loderrm(S"LESS THAN 2 PAGES FOR NEW SYMBOLS"™):; 0274

intmsf _ TRUE; 0275

END3 0276

IF intmsf THEN *intmsg* _ CR, LF, "WARNING: SEE LOAD MAP

FOR ERROR MESSAGESY™, 0; 0277

END; 0278
% set up shifts % 0279
cshift _ wshift _ nullch; ¢%no shift charactersg 0280

oshift _ FALSE; %for output only =-- do/dont print slashes

for uppercase letters$ 0281
% Set entry vector % 0282
setvec(); 0283
% 1initialize free storage zone % 0284
makezone( $dsoblk, 20008, 8, S$dspbke - $dspblk-1): 0285

% initialize system default viewspecs % 0286
defvsl _ 03 0287
defvsz _ 0: 0288
defvsl.vstrnc _ defvsl.vslev _ 63; 0289
defvsl.vsindf _ defvsl.vsnanf _ defvsl.vsdaft _defvsl.vsnanf
- defvsl.vspagf _ TRUE; 0290
% host dependent% 01894
CASE (lhostn _ hostnumber()) OF 01906
=isichost?: oprtty _ arcoprtty; 01907
=isirlhost: %NELC, was for ISTD hefor NOV 76% 01957

%may want it for NELC% 015866
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BEGIN

nojournalflag _ TRUE;
cpcldelim _ cpcrdelim
END 3

- 757

7

01961
01965
01962
01964

=isidhost, =isieshost: %may want to drop isid, depending

on what isi does when isid goes to san diego%
BEGIN
tops20flag _ TRUE;
devlproc _ 4; dsvsri _ 11;
END3
=sriai20host: %20-50%
BEGIN
tons20flag _ TRUE;
devliproc _ 13;
imlacC_20B; imlacl_21B;
END ;
=sriaikahost:
BEGIN
cocldelim
END 3
=officelhost:
BEGIN
cpcldelim _ cperdelim _ °§5 3
END 2
=nsahost:
REGIN
cutremsiteflag _ inremsiteflag _ FALSE;
*ortdir* _ "PRINTERY;
oprtty _ nsaoprtty’;
END;
=utilhost: *subdir*
ENDCASE
BEGIN
*opname* _ "{SUBSYS>NODUTPRC.SAV
LY
r 4
*subdir* "SUBSYS";

nojournalflag _ TRUE;

cpcrdelim _ "%

nSUBSYS"s

END;
IF tops20flag THEN
BEGIN
Evrdchar _ "« ;

01915
01916
01917
01960
01918
01870
01974
01971
01978
01980
01973
01983
01984
02136
01985
02000
02001
02003
02004
01912
01613
01897
01359
01977
01914
01988
01508
01920

01919
01990
01922
01921
01967
01968
01923

t2fnsupdate(st2fsbegin+l, &§t2fsend)) %2change semicolons

to periods in system filenames%
cpcldelim _ cpcrdelim _ °§;
END 3
% ask if there is a startup message 3%
L.oop
BEGIN
typeas(&¥startup message?? ");
CASE rawchr() OF
= "y, = *Y! %yes%
REGTIN
tvpeas($'es.");
crlf();
gtintmsg();
EXIT LOOP;

01946
01963
01969
0293
0294
0295
0296
0298
0299
0300
0301
01939
0302
0303
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EHD;
= "n, = "N %no%
BREGIN
tvpeas(5"o.");
crlf();
EXIT LOnP;
END 2
ENDCASE
BEGIN
tvpeas(s" ? (v or n)");
crlf():
REPEAT LOOP;
END ;
END s
%init backend% %take this out later when split complete%
bpresaveinit();
% save core image as disk file 2%
nlsave();
% terminate partial initialization %
LOOP thaltf;
END ,
(Loderrm)PROCEDURE(str);
%put out 4-line loading messagel
REF strs
exifil); crlfl);
typeasc$!'***************t**************t*t'kﬂ");
crli();
typeas(&str);
crif¢):
typeas(sl'****‘k****‘k**********‘k***t**********ll);
cerlfc);:
RETUEN
END .
(nlsave) PROCEDURE; % save nls as disk file %
LOCAL jfn;
LOCP % get save file name from user %
BEGIN
typeas(S"save filename: ");
IF NOT SKIP 1gtifn(400003B6,100000101B) THEN
BEGIN
typeas(s"” 2V);
crlf();
REPEAT LDQP;
END;
Jfn _ r1;
EXIT LOOP:
END;
% save core image as dsk file %
Issave( 40000086 .V 3fn.RH, 777000R6 .V 5200008, 0);
%« MODIFY BOUNDS LATER %
HETURNS
END,
(t2tnsupdate) PROCEDURE(tabstrt, tabend);

0304
0305
0306
0307
01940
0308
0309
0310
0311
0312
01941
0313
0314
0315
0316
0317
0318
0319
03290
0321
0323
01927
01928
01929
01930
01931
019632
01933
01934
01935
01936
01937
01938
0325
0326
0327
0328
0329
0330
0331
0332
01942
0333
0334
0335
0336
0337
0338
0339
0340
0341
0342
01943

%“change first semicolon in filename string to period for block of

strings%
LOCAL TEXT POINTER z1, z2;

01954
01953
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REF tabstrt;
WHILE tabstrt AND &Ltabstrt ¢ tabend DO
BEGIN
IF FIND SF(*tabstrt*) £°32 »22 *z1 _z1 THEN ST 2z1 22 _
Ltabstrt _ ftabstrt + (tabstrt.M )/5 + 2;
END3
KETURN?
FND .

Fsssselnitizlization supnort routineS.sss+%

(setvec)PKOCEDURE;
%Sats entry vector for frontend$%
entveclC0] _ 3nls .V 2548B9; %start NLS%
entvecTl] _ $rentr .V 254H9; %reenter nls%
entvecl2] _ $tnls .V 25489; %start TWLS%
entvecCS] _ Squeary .V 254B9; %start querv%
entvecl7] _ $dnls .V 254B9; %start DHNLS%
Isevec(4B5, 10P6 .V Sentvec); %2set entry vector$
EETURN:
KND o

01952
01947
01948
;
01951
01950
01949
01944
01945
0324
0343
0344
0345
034¢
0347
0349
01881
0350
0351
0352

(1ntdafl) %initialize da record to standard values for a text area$%

PROCERURE (da):;
LOCAL hinc, vinc, fv, index, cpos}
REF da;
hinc _ IF nlmode = typewriter THEN 1 ELSE tahinc?
vinc _ IF nlmode = typewriter THEN 1 ELSE tavinc}
%dislavarea record starting values?
da.daseq _ FALSE; %random display area%
da.dafrozen _ FALSE; %frozen boundary flag%
da.daauxiliarv _ FALSE; $for display purposesz
da.davspec _ stdvsp;
da.davspc2 _ stdvsprfll:;
da.dalsrt _ 03 %so maklsrt will allocate space%
da.dacsp _ ornastid; %fileno later?
da.daccnt _ 1;
da.dashrinkcnt _ 0;
da.dacsize _ tacsize;
da.danocs _ tacsize;
da.dasgcs _ tacsize:
da.daind _ indcnt * hinc;
da.damind _ tamind * da.daind;
da.dalftjst _ 0;
cda.damrow _ TIF nlmode NOT= tyvpeuwriter THEN

0353
0354
0355
035¢€
0357
0358
0359
0360
0361
0362
0363
0364
0365
0366
0367
0368
0369
0370
0371
0372
03173
0374
0375

((tahottom-tatop)/vinc)*vinc ELSE linmax %lines to bottom

margin%; :
¥ Why did we ever do this??7???
[F nldevice = devlproc THEN da.damrow

3
da.damcol _ IF nlmode NOT= typewriter THEUN
IF udpcolmax > 0 AND udpwrapcol > 0 AND udpwrapcol <
(taright - taleft)/hinc THEN
udpcolmax
ELSE

037¢
01904

_ da.damrow = vinc;

0377
01905
01821

01822
01823
01824

MINC(((taright~-taleft)/hinc), IF udpcolmax=0 THENY 10000
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ELSE udrcolmax)*hing 01825
ELSE colmax * hinc %columns%; 01820
da.dahinc _ hinc; 0380
da.davinc _ vincy 0381
da.danohi _ hinc; 0382
da.dasghi _ hinc; 0383
da.daleft _ talaft; 0384
da.daright _ taright; 0388
da.datop _ tatop; 0386
da.dabottom _ tabottom; 03817
da.daempty _ FALSE; 0388
da.daexis _ TRUE}; 0389
*1nitializs displav storage areas for LSRT and auxiliary LSRTS
0390
IF nlmode = fulldisrlay THEN 0391
REGIN 0392
Aulsize _ da.damrow/da.davinc + 2; %number of useable lines
+ 1% 0393
IF NOT maklsrt (§dspblk, aulsize, &da) 0394
OR NOT (aulsrt _ getblk(aulsize * 1srtl, $dspblk)) THEM 0395
err( $"NLS out of display space"); 0396
aulsrt _ aulsrt + bhl; %first useable address of blockg
0397
END} 039§
tlast free 1srt "entry" - used for split screen size control% 0399
rtfree _ MIN(rtmax, 60); 0400
$fix up lsid bit table% 0401
1F NOT da.dalsidb THEN 0402
da.dalsidbh _ ((&da - $dpyarea)/dal) * lshtsize +
Slsbitables; 0403
dassnbit(da.dalsidb, -1, lsbtsize); %deassign all bits% 0404
%set default tabstop values% 0405
da.datah0 _ stdtab; 0406
da.databl _ stdtabC11; 0407
da.datab?2 _ stdtahrC21:; 0408
IF nlmede = typewriter AND NOT autostrt THEN setabs($stdtab);
0409
% set previous viewspec uwords % 0410
(da.dapvs, da.dapvs2) _ (da.davspec, da.davspc2); 0411
RETURN 0412
END, 0413
0414
(ckdvIn)PROCEDURE; %if 1lp line number has changed, close and reopen
dspifn% 01829
LOCAL lcontinue; 01868
IF nldevice f devlproc THEN RETURN(FALSE); 01830
LF dspjfn # Q0 THEN 01831
BEGIN 01832
'93inf(); 01833
lF r4 = console THEMN 01834
BEGIN 01870
lcontinue _ continue := TRUE; 01871
getdev(console,nldevice); %restore device type lproc if it
was chanced% 01872
continue _ lcontinue; 01872

RETURN(FALSE); 01869
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END ; 01874

console _ r4; 01835

1F NOT SKIP Iclosf(dspjfn) THEN NULL; 01836

getdev(console, nldevice); 01837

END 3 01838

KETURN(TRUE); FND. 01839
(checkdevline) PROCEDURE; %if 1p line number has changed, close and

reopen dspifn and call initdis in "continue™ mode% 01840

LF NOT ckdvin() THEN RETORN; 01841

continue_TRUE} 01842

initdis(); 01843

continue_FALSE; 01344

RETURN: END, 01845

(condevline)PROCERURE(initf); %check lp line number during a possible
"continue". call initdis in “continue" mode if initf true. returns

true if it had to do something.% 01846
LOCAL lcontinue, retflag; 01847
lcontinue _ continue := FALSE; 01848
IF retflag _ ckdvlin() AND initf THEN 01849

BEGIN 01854
continue _ TRUE; 01856
initdis(); 01857

END; 01855
continue _ lcontinue; 01850
KETURN(retflag); END. 01851
(getdey) PROCEDURE(lineno, device); %get user®s device% 02005

% this procedure uses the davice in davice if it is a valid device
code (devsri for énls, devtiex for tnls, or ogffline for dex),
otherwlise it uses the device info that it gets from the monitor%

02006
e ———— 2 062007
LUCAL devtype, i, char, count, code} 02004
'gttyp(lineno .V 4B5); %line number designator$ 02005
devtype _ 127 02010
LF device=devsri QR device=devlproc THEN 02011
CASE devtype OF 02012
=imlac0, =imlacl: NULL: 02013

%1if user has terminal tvpe imlac, then believe him,
otherwise believe device% 02014
ENDCASE 02015
BEGIN %assume lineprocessor% 02016
devtype _ devlproc; 02017
Isttyp(lineno .V 485, devtype):; 02018
‘rfmod(); 0201¢
r2 _r2 A T7T7T7777777178 .V 4B103 %no raise, etc.% 02020
tsfmod ()} 02021
Istpar(); 02022
END; 02023
iF continue AND devtype = nldevice THEN RETURN: 02024
IF devtype = devlproc THEN 02025
EEGIN 02026
IF NOT SKIP !gtjifn(1B6, (S"TTV:" + 1) .V 18M6) THEW 02027
arr (S"GTJFN failed, CETDREVY): 02028
dspifn . rl: 02029
I¥ NOT SKIP lopenf(dspifn, 100000385) THEN 02030

err(S"OPFENF failed, GETDEV"): 02031
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=altinp™ ... NULL: 02032
FOR 1 _ 0 UP UONTIL >= 10 DO 02033
BEGIN 02034
% send and read big characters % 02035
lpcmode() 02036
intter{); 02037
'disms(1000); 02038
Loaop 020369
IF NOT SKIP 1sibe(100FE) THEN 02040
BEGIN 02041
'bin( dspifn ); *altinp* _ *altinp*, (char _ r2);
02042
IF char # lpresc THEN REPEAT LOOP; 02043
'bin( dspjfn ); *altinp* _ *altinp*, (code _ r2);
02044
IF code # irep THEN REPEAT LOOP; 02045
altinp.L _ altinp.L - 2; 02046
lpxmax _ physxmax _ bincoord(dspijifn); 02047
1pymax _ bincoord(dspjfn); 02048
Iptype _ bincoord(dspifn); 02049
lpdlpad _ bincoord(dspijfn); 02050
lphaudfactor _ bincoord(dspifn); 02051
EXIT LOOP 2; 02052
END 02053
ELSE REPEAT LOCP 23 02054
END 62055
IF 1 >= 10 THEN %interrogate has not been acknowldged yet%
02056
BEGIN 02057
typeas(5"No Line-Processor data from INTERROGATE in
CETDEV"); 02058
LOOP thaltf: 02059
END; 02060
litcolumnC0Y _ 1; 02061
'rfmod(100B); 02062
r2 _ 02063
r2 .A 7400007777778 .V (lpvmax * 2B8) .V (lpxmax * 1B6);
02064
!sfmod( 100B, r2); 02065
IF altinp.L THEN &rawchr _ S$lpaltgetchar: 02066
newcp _ scwWindow _ FALSE; 02067
CRSE 1ptype .A 4¥ QOF 02068
= datamedia: 02069
BEGIN 02070
puthackchar _ TRUE; 02071
lpilpad _ 303 02072
l1pdlpad _ 1; 02073
END; 02074
= hazeltine:! puthackchar _ TRUE; 02075
=51 %*datamedia 4000 possibly with CP and graphics$ 02076
REGIN 02132
putbackchar _ newep _ TRUE: 02077
Physxmax _ MIN(79, physxmax); 02134
END ; 02133
¥ [6,157: %datamedia 4000 with scroll window% 02078

%6 is only one assigned at present time, 7-15 default to
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these flags until they are assigned3 02079

BEGIN 02080

putbackchar _ newcp _ scwindow _ TRUE; 02081

physxmax _ MIN(79, physxmax); 02135

END: 02082

ENDCASE putbackchar _ FALSE; 02083

ldsp3jfn _ 07 %no linked line-processorsg 02084

END; 02085

IF devtype = imlacO OR devtype = imlacl THEN 02086

BEGIN 02087

IF NOT SKIP !gt3ifn(l1B6, (S"TTV:" + 1) .V 18M5) THEN 02088

err (S"GTJFN failed, GETDEV"); 02089

dspifn _ r1l; 02090

IF NOT SKIP lopenf(dspifn, 100000385) THEN 02091

err (SY"OPENF failed, GETDEV"): 02082

ldspjfn _ 0; %no linked line-processors2 02093

END; 02094

CASE device 0OF 02095

= devsri: %user wWants DNLS% 02096

CASE devtype QF 02097

= imlacC, = imlacl, = devlproc: NULL} 02098

ENDCASE %not good% 02099

BEGIN 02100

typeas($"not a display terminal); 02101

crlf(); 02102

1JSYS haltf; 02103

END; 02104

= devtiex: %user wants TNLS% 02105

CASE devtype OF 02106

= imlac0, = imlacl, = devlproc: 02107

devtvpe _ devtiex; 02108

ENDCASE: 02109

= offline: %user wants DEX% 02110

devtype _ offline; 02111

ENDCASE; %use devtype% 02112

CASE devtype OF 02113
=dev33, =dev35, =dev37, =devtiex, =imlac0, =imlacl, =nettty,

=o0tfline, = devlproc: 02114

#dafined device type% 02115

ENDCASE devtype _ devtiex; %undefined, use devtiex: 02116

setdev(devtype); 02117

RETURNS 02118

END, 0211¢

02120

(bincoord) PROCEDURE(Jfn); 02121

LOCAL char: 02122

1bin(jfn); 02123

1" r2jcooresc THEN RETURN(r2-408); 02124

char' .. 03 02125

Ibin{jfn); 02126

char.xcl _ 12 - 408; 02127

'tbin(jfn); 02128

char.xc2 _ r2 - 408; 02129

RETURN(char); 02130

END . 02131

(setdey) PROCEDURE (device); 0490
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#set up device dependent data for passed devicel 0491
LOCAL store, i, 1lmode; 0492
CASE nldevice _ device OF 0493
= imlacO: “vert tube, no LVH%Z 0509
BEGIN 0510
%2 normal char size:da 13 hinc: 9, 9, 9, 9; vinc: 30, 30, 30,
307 grid: x: 0 to 719 by y: 0 to T19:% 0511
nlmode _ fulldisplay: 0512
Imarg _ tmarq _ 0; 0513
rmarg _ bmarg _ 719*255; 0514
tacsize _ cflcsize _ namcsize _ subcsize - litcsize _
msgcsize _ ltcsize _ vscsize _ 13 0515
tahinc _ cflhinc _ namhinc - subhinc _ lithinc _ msghinc _
lthinc _ vshinc _ 9*256; 0516
tavinc _ cflvinc _ namvinc _ subvinc - litvinc _ msgvinc _
Itvinc _ vsvinc _ 18%*256; 0517
intdspda(tmarg + 7*tavinc, (bmarg/tavinc)*tavinc, lmarag,
(rmarg/tahinc)*tahinc): 0518
tlnitialize display areas for display terminal% 0519
END ; 0520
= imlaci: tvert tube, LVH% 0521
BEGIN 0522
% normal char size: 2; hinc: 16, 16, 16, 16; vinc: 16, 32
32, 487 grid: x: 0 to 1023 by y: 0 to 1023;% 0523
nlmode _ fulldisplay: 0524
lmarg _ tmarg _ 0; 0525
rmarg _ 1000%256; 0526
tkludge because daccol field overflows in 1sgfrmt% 0527
hmarg _ 1023*256; 0528
tacsize _ cflcsize _ namcsize - Subcsize _ litcsize _
msgcsize _ 23 0529
ltecsize _ vscsize _ 13 0530
tahine _ cflhinc _ namhine _ subhinec - lithinc _ msghinc _
l1thinc _ vshinc _ 16*256; 0531
tavine _ cflvinc _ namvinc _ subvinc - litvinc _ msgvinc _
32*2563 0532
vsvinc _ ltvinc _ 16*256: 0533
intdspda(tmarg + 7*tavinc, (bmarg/tavinc)*tavinc, lmarg,
(rmarg/tahinc)*tahinc); 0534
finitialize display areas for display terminalg 0535
END} 0536
= devlproc: %alpha-numeric display with line-processorg 0537
REGIN 0538
% char size: 1; hinc: 1: vinc: 17 grid: x: 0 to lpxmax by y:
0 to lpymaxji 0539
nlmode _ fulldisplay: 0540
tmarg _ lmarg _ 0; 0541
rmarqg _ lpxmax: 0542
bmarg _ lpvmax; 0543
tacsize _ cflcsize _ namcsize - Subcsize _ litcsize _
msgcsize _ 1ltcsize _ vscsize _ 13 0544
tahinc _ cflhinc _ namhinc _ subhipc - lithinc _ msghinc _
Lthinc _ vshinc _ 1; 0545
tavinc _ cflvinc _ namvinec _ subvinc -~ litvinc _ msgvinc _
ltvinc _ vsvinc _ 13 0546

newintdspda(tmarg + 6*tavinc, bmarg, lmarg, rmarg); 0547
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¥initialize display areas for display terminal3 0548

IF &rawchr # Sauxchr THEN 01827
Erawchr _ IF altinp.L THEN $lpaltgetchar ELSE 51pgetchar;

0549

1ppifn _ 0; %make sure printer is off % 0550

BHD; 0551
=dev33, =dev3s5, =dev3iT, =devtiex, =nettty, =offline: 0552
BEGIW 0553
Irfmod(4™5 + console); 01882

lmode _ 12 01888

IF 1mode.fmedcol < colmax THEN 01883

BEGIN 01884
lmode.fmodcol _ colmax; 01885
Istpar(rl, lmode); 01886

END 01887

nlmode _ typewriter; 0554
intdspda(0, ogsize, tpoffset, colmax): 0555

END3 0556
ENDCASE 0557
REPEAT CASE(nldevice _ devtiex); 0558

% 1nitialize the translate tables % 0559
initch(nldevice); 0560

% initialize the break table using "trnsli" % 0561
initbtbl(); 0562
HETURN? 0563
BEND . 0564
0565

(intdspda) PROCEDTRE (tat, tab, tal, tar); %set up display areas for
display terminal (relative to position of text area)% 0566
tsets up top six lines as control ad literal feedback areas% 0567
#text area% 0568
tatop _ tat; 0569
tabottom _ tah; 0570
taleft _ talj; 0571
taright _ tar: 0572
%$Command Feedback Line% 0573
ctltop _ tat = 4*tavinc; 0574
cflbottom _ cfltop + 2*cflvinc} UsT5
cflleft _ tal; 0576
cflright _ tar; 0571
tname% 0578
namtop _ cfltop; 0579
nambottom _ namtop + namvinc; 0580
namleft _ cflleft; 0581
namright _ cflright; 0582
%1t viewspec? 0583
lttop _ tat - 6*tavinc} 0584
l1thottom _ ltton + ltvinc: 0585
ltieft _ tar = 15*1thinc; 0586
ltright _ tar: 05817
sviewspecs 0588
vstop _ ltbottom; 0589
vsbottom _ vstop + vsvincy 0590
vsleft _ 1ltleft; 0591
vsright _ ltright; 0592

2l1teral feedbacl% 0593
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litton _ tatop = 2*tavinc:
lithottom _ tabottom:
litleft _ talaft;
litright _ taright;
%messaqge areaz
msgtop _ tat - 6*tavincs
msghottom _ msgtop + 2*tavinc:
msgleft _ cflleft + 13*msghinc;
msgright _ 1tleft - msghinc;
#Subsystem name$%
subtop _ tat - f*taving:
subbottom _ subtop + subvinc:
subleft _ tal:
subright _ msgleft - subhinc;
RETURN;
gND,

(newintdspda) PROCENURE (tat, tab, tal, tar);
for display terminal (relative to position of t
#Sets up top six lines as control and literal feedback areas2

stext areai
tatop _ tat:
tahottom _ tabh;
taleft _ tal:
taright _ tar;
zother viewspecs areag
vstop _ tat - 4*tavinc}
vsbottom _ vstop + vsvinc:
vsright _ MIN(tar,physxmax);
vsleft _ vsright - 7*vshinc;
%1t viewspecs area$%
lttop _ tat - 4*tavinc:
ltbottom _ 1ttop + ltving:
ltright _ vsleft - tahinc;
ltleft _ ltright = 7*1thinc;
4sybsystem name areal
subtop _ tat = 4*tavinc;
subbottom _ subtop + subvinc;
subleft _ tal;
subright _ subleft + l4*subhinc:
tname area%
namtop _ tat - 4*tavinc:
nambottom _ namtop + namvinc;
namleft _ subright + tahinc;
namright _ 1tleft = tahinc;
¥Command Feedback area2
cfltop _ tat - 3*tavinc;
ctlbottom _ cfltop + 2*cflvinc;
cflleft _ tal;
cflright _ tar;
tliteral feedback area%
littop _ tatop = 2*tavincs
lithottom _ tabottom;
li1tleft _ taleft;
litright _ MIN(taright,physxmax);
*message (tty) areag
msgtop tat - 6*tavinc:;

-
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0594
0595
0596
0597
0598
0599
0600
0601
0602
0603
0604
0505
0606
0607
0608
0609

%set up display areas
ext area)$

0610
0611
0612
0613
0614
0615
0616
0617
0616
0619
0620
0621
0622
0623
0624
0625
0626
0627
062¢€
0629
0630
0631
0632
0633
0634
0635
0636
0637
0638
0639
0640
0641
0642
0643
0644
0645
0646
0647
0648
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msgbottom _ msgtop + 2*tavinc} D649
msgleft _ tal; 0650
msgright _ tar; 0651
KETURNS 0652
END . 0653
(initch) PROCEDURE (device); %initialize translation tables? 0654
%¥Initialise the character set for the device$ 0655
% legal device codes 0656
devsri, imlac0O, imlacl, devtiex, dev33, dev35, dev37, offline,
nettty% 0657
e ——— % 0658
LOCAL 1i; 0659
% 1st set tables to standard state % 0660
FOR buffct _ 0 UP UNTIL = 128 DO 0661
trnslicbuffect) _ trnslorfbuffctl _ buffct; 0662
% Now set up control Characters % 0663
tLiteral escape$} 0664
todlit _ Sctlv; 0665
%command accept? 0666
trnslirl41 %~D% _ CA: 0667
trnsloCCA] _ nullch; 0668
Zcommand delete% 0669
trnsliC30B]) _ CD; %*X% 0ET0
trnsliC1778B1 _ CD; %frubout? 0671
trnsloCCDY _ “#; 0672
%center dot% 06173
trns1iC283 _ C.3; %~B% 0674
trnslofC. _ “@: 0675
$hackspace character% 0676
trnsliCl1Bl _ BC3 ¥~A% 06717
trns1iC10BY _ BC; %"H% 0678
trnsloCRBCY _ "\; 0679
sbackspace word% 0680
trnslic27B] _ BW; %~W3 , 0681
trnslolBWY _ *"_3 0682
thackspace statement? 0683
trns1iC13R1 _ Sascbst; %"0Q% 0684
trnslol Saschstl _ "¢ 0685
% set yp shifts and device dependent global stuffs 0686
CASE device 0OF 0687
=dev33, =dev35, =offline: 0688
BEGIN N68Y
%cause uppercase alpha®s to get translated to lower case
alpha”s% 0690
FOR i _ “A UP OUNTIL > -2 DO 0691
trnsliCil _ trnsliCil + 40B; 0692
cshift _ °/; 0693
wshift _ “\; 0694
END3 0695
ENDCASE; 0696
% now do user-option stuff for this device % 0697
FOR i _ 0 UP UNTIL = 100 DO 0698
BEGIN 0699
IF ccthlCfil.ccdevice = device THEN 0700
BEGIN 0701

trnslif(cctb1fil).cccharl ccthllfil.cctype; 0702



trnslof{cctbllil).cctypel _ cctblfil.ccecho; 0703
END; 0704
END; 0705
1¥ NOT libflg THEN BEGIN 0706
- 18M; 0707
1J5YS rfmod:; 0708
IF r2 «A 10E 2half duplex% THEN 0709
BEGIN %half duplex for net-tty% 0710
<NLS, INPFRK, echoff>(); 0711
teedbk _ O3 0712
END; 0713
END 0714
RETURN: 0715
FHD - 0716
0717
(initdis) PROCEDURE: 0718
LOCAL STRING sendr10i; 0719
1f NOT autostrt THEN %set formatting for control characters$% 0720
BEGIN 0721
$set control character output codes$% 0722
rl _ 184; 0723
IF nlmode = typewriter THEN 01814
BEGIN 01815
r2 _ IF spftab THEN ttvycoc+2000B3 01816
ELSE ttvecoc 01817
END 01818
ELSE r2 _ dpvcoc; 01819
- 1B3; 0725
1JSYS sfcoce: 0726
END; 0727
IF nlmode NOT= tvpewriter THEN %set up display areas% 0741
setdis() %allocate or reallocate display areas% 0742
ELSE %set lowercase if needed2 0743
BEGIN 0744
CASE nldevice OF 0745
=dev37, =nettty, =devtiex, =devlproc, =devsri, =imlacO,
=imlacl: 0746
I NOT autostrt THEN 0747
BEGIN 0748
'rfmod(100B); 018758
r2 _ r2 A 7777777777178 .V 4B10; 0751
Isfmod(); 0752
Istpar(); %this one does "no raise"s 01876
END ; 0753
ENDCASE; 0754
END; 0755
IF nlmode = fulldisplay THEN %clear screen and enable coordinate
input% 0728
BEGIN 0729
Fturn on special character input mode (allows for viewspec and
marker inpout)% 01455
Llpcmode(); 2 enter coordinate mode % 01459
CASE nldevice OF %turn tty simulation off$% 0731
= devlproc: NULL; 0732
= imlac0, = imlacl: 0733

BEGIN

0734
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*send* _ begmsg, l+remfudge, remtsf:
tsout(dspifn, chbmty+$send, -sencd.L);
END
ENDCASE 2tasker®
err(5"lNo Tasker");
END 3
RETURN END.

(setdis) PROCEDURE; %set up display areas%
¥issue jsys®s to allocate display area“s for CFL, L-T area,

0735
0736
0737
0738
0739
0740

0756
0757

vieuwspec area, name areas,subsystem-name area, literal feedback
area, and a message area. Set up globals subda, cflda, ltvsda,
vspcda, namda, litda, msgda, and assume dpyarea is set up for text

area .%

LOCAL end, da, ls, save, consolenum, entryptr}
LOCAL STRING sendf101, strC4037;
REF 1s, da;
cdtype _ dspno;
treset the displav$
CASE nldevice OF
= devlproc:
BEGIN
lprset(); %reset the displavy®
cscreen(); %clear screens
1pcmode()? %go into coordinate input mode%
END:?
=imlac0, =imlaclt BEGIN
!sout(dspijfn, 440788+Srinistr, -11); %send 10 33B”s
one other char%
1disms(1000);
*send* _ begmsg, l+remfudge, remlcm;
Isout(dspijfn, chbmty+5send, =-send.lL);
END;
ENDCASE
dassnbit(sdabt, -1, dabtsize); %deassign all daid~”s%
¥ arm the cursor %
csrstr(Srmdcr, tacsize, 0, 0);
IF NOT continue THEN %must initialize?
BEGIN
Adda _ Snlsdas:
%message area%

ttvda _ &msgda _ initda(&da, msghase, msgx, msgy, Sstn,
sequential);
ttysim _ msgda.dahandle;

ttywindow(ttyda);
&da _ &da + dal;
tcommand feedback areai
*cflstr* _ NULL?
tcflarw* _ 1] ll;

0758
0759
0760
0761
0762
0763
0764
0765
0766
01401
01400
01402
01403
01404
0767
plus
0768
0769
0770
0771
0772
0773
0774
0775
0776
07717
0778
0779
0780
0,
0781
0782
0783
0784
0785
0786
0787

&cflda _ initda(&da, cflbase, cflx, cfly, S5cflstr, Scflaru,

randm) }

Ccfldae.dalsrtl.rtxl _ Tcflda.dalsrtl.rthinc;
Lda &da + dal;

sL-T area%

0788
0789
0790
0791

f£1ltvsda _ initda(ada, lthase, ltx, ltv, S$stn, 0, randm);
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0792
§8da _ §4a + dal; 0793
IF nldevice = devlproc AND (lptype A 4¥) = deltadata THEN
01397
cline(0, ltvsda.datop, lpxmax): 01398
%This kludge is to get around timing problems on the
delta data% 01399
%view spec area? 0794
fvspecda _ initda(Ada, vsbase, vsx, vsy, $stn, 0, randm);
0798
Ada _ &da + dal; 0796
tname area% 0797
fnamda _ initda(&da, nambase, namx, namy, $stn, 0, randm);
0798
&da _ &da + dal; 0796
$subsystem name area? 0800
dsubda _ initda(&da, subbase, subx, suby, $%stn, 0, randm );
0801
hda _ fda + dal; 0802
$literal display area? 0B03
§litda _ initda(S&da,litbase, litx, lity, $lit, 0,
sequential): 0604
litdahandle _ litda.dahandle; 0805
litrmarg _ (litda.daright-litda.daleft)/litda.dahinc; 0806
litreset _ TRUE; 0807
litda.databh0 _ stdtab; 0808
litda.databl _ stdtabrCl1l3; 0809
litda.datahb2 _ stdtahrC21; 08190
&da _ Sda + dal; 0811
ttext area? 0812
&da _ Sdpvarea; 0813
UNTIL £da >= Sdpyend DO 0814
BEGIN 0815
IF da.daexis AND NOT da.dasuppress THEN 0816
<{NLS, DSPGEN, alocda>(fda):; 0817
§da _ &3a + dal; 0818
END; 0819
END 0R20
KLSE %re-allocate them 0821
BEGIN 0B22
I¥ &msgda THEN 0823
BEGIN %o01d one has been released, get a new one?% 0824
<NLS, DSPGEN, alocda>(ttyda); 0825
ttysim _ [Cttydal.dahandle: ‘ 0826
ttywindow(ttvda):? 0827
END; 0828
IF &namda THEN 0829
BEGIN 0630
&1s _ namda.dalsrt; 0831
Is.rtlsid _ 0; 0832
<NLS, DSPGEN, alocda>(&namda); 0833
dassnbit(namda.dalsidb, =1, 1lsbtsize); %deassign all bits%
0834
IF dnstr.L THEN dn($dnstr); 0839
END: 0840

IF &subda THEN 0641



GAS 2, 14=Feb=79 22:32 < NLS, FINTNLS.NLS.65, > 21

BEGIN 0642
<NLS, DSPGEN, alocda>(&subda); 0843
dassnbit(subda.dalsidb, =1, lsbtsize); %deassign all bits%
0544
8ls _ subda.dalsrt; 0845
1s.rtlsid _ 0; 0846
dsubsys($ssysname); 0847
END: 0848
IF &cflda THEN 0849
BEGIN 0850
<NLS, D3PGEN, alocda>(&cflda); 0851
dassnbit(cflda.dalsidb, -1, lshtsize); %deassign all bits%

0852
41s _ cflda.dalsrt; 0853
*cflste* _ NULL: 0854
ls.rt¥2 _ ls.rtxl + (cflstr.L = 1) * 1ls.rthinc; 0855
ls.rthps _ chhptr(empty) + &Scflstr; 0B56
ls.rthpe _ chbptr(cflstr.L) + Scflstr; 0857
Is.rtlsid _ 0; 0858
Als _ &1s + 1srtl} 0859
*cflarw* _ W n; 0860
lssrthps _ chbptr(empty) + Scflarw; 0861
ls.rthbpe _ chbptr(cflarw.L) + S$cflarwu; 0862
ls.rtlsid _ 0; 0863
<NLS, NSPGEN, wrtstr>(&cflda, &1s); 0864
END; 0865
vspsav _ vspsavlCll _ 03 %to make dspvsp work% 0866
IF &ltvsda THEN 0867
REGIN 0868
<NLS, NSEGEN, alocda>(&ltvsda); 0869
dassnbit(1ltvsda.dalsidb, -1, 1lsbtsize); %deassign all bits%
0870
&1s _ 1tvsda.dalsrt; 0871
ls.rtlsid _ 0; 0872
IF Evspcda THEN 0873
BEGIN 0874
<NLS, DSPGEN, alocda>(&vspcda); 0875
&1s _ vspcda.dalsrt: 0876
ls.rtlisid _ 03 0877

IF nldevice = devlproc AND (lptype .1 4M) = deltadata
THENY 0878
cline(0, ltvsda.datop, lpxmax): 0879

2This kludge is to get around timing problems on
the delta data% 0880
dspvsp(stdvsp, stdvsprll, 3): 0881
END 0882
ELSE 0883
BEGIN 0884

IF nldevice = devlproc AND (lptype .2 4M) = deltadata
THEN 01391
cline(0, 1tvsda.datop, lpxmax); 01392

%This kludge is to get around timing problems on
the delta data% 01393
dspvsp(stdvsp, stdvspCl1ll, 1); 0887
END? 0888

END 0889
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ELSE IF &vspcda THEN 0890
BEGIN 0691
<NLS, DSPGEN, alocda>(&vspcda); 0ro2
dassnbit(vspcda.dalsidb, =1, lsbtsize); %deassign all bits$
0893
&1ls _ vspcda.dalsct; 0894
ls.rtlsid _ 0; 0r95
IF nldevice = devlproc AND (lptype .4 4V) = deltadata THEN
01394
cline(0, ltvsda.datop, lpxmax):; 01395
%This kludge is to get around timing problems on the
delta data3 01396
dspvsp{(stdvsp, stdvspfll, 2); 0898
END; 0899
IF &£1litda THEN 0900
BEGIN €901
litdahandle _ <NLS, DSPGEN, alocda>(&litda); 0v02
dassnbit(litda.dalsidb, -1, lshtsize); %deassign all bitsg
0003
litresat _ TRUE; 0904
ENDj; 0905
%text areat 0906
end _ (&da _ S$dpvarea) + dal*dacnt; 0907
UNTIL &da »>= end DO 0908
BEGIN 0609
IF da.daexis AND NOT da.dasuppress THEN 091¢
{NLS, DSPGEN, alocda>(&da):; 0911
dassnbit(da.dalsidb, -1, 1shtsize); %deassign all
hits% 0912
&da _ &dz + dal; 0913
END; 0914
END ; 0915
echoff(); 0916
RETURNS 0917
END, 0918
0919
0920
(ttywindow) PROCEDURE (da); %make a da a tty window% 0921
LUCAL STRING serdr2031; 0922
REF da: 0923
CASE nldevice 0OF 0u24
= devlproc: 0925
lpttywindow(da«.datop, da.dabottom=-da.davinc); 0926
= imlac0, = imlacl: %send out char string% 0927
BEGIN 0928
IF NCOT da.dahandle THEN err($"Zero dahandle in ttywindou");
0929
*send* _ begmsg, 4+remfudge, echda, 50B, da.dahandle.daidrl
+ remfudge, da.dahandle.daidr2 + remfudge; 0930
!'sout(dspifn, chbmty+$send, -send.L); 0931
END; 0232
ENDCASE 0933
err($"No Tasker"); 01804
RETURN 0537
END, 0938
(initda) PROCEDURE(da, base, X, Y, strl, str2, type): 093¢
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LOCAL ls, end, nostrs: 0940
REF strl, str2, base, 1s, da: 0941
end _ &da + dal; 0942
20 da _ 0 DNTIL (&da _ &da + 1) >= end: 0943
dda _ end - dal; 0944
da.dacent _ 0; 0945
da.dacsp _ endfil; 0946
da.dapstf _ =-1: 0947
da.dacsize _ base.icsizey 0944
da.dafont _ hase.ifont; 0949
da.dahinc _ base.ihinc’ 0950
da.davine _ base.ivinc: 0951
da.daleft _ base.ileft; 0952
da.daright _ base.iright; 0953
da.datop _ base.itop; 0954
da.dabottom _ hase.ibottom; 0955
da.dalsz _ nostrs _ (base.ibottom-base.itop)/base.ivinc; 0956
da.daseg _ tvpe; 0957
da.daexis _ TRUE; 0958
da.dafrozen _ FALSE; 0959
da.dalsldb _ ((&da-$nlsdas)/dal)*1lsbtsize + $clsbitables? 0960
dassnbit(da.dalsidh, =1, lsbtsize); %deassign all bits3 0961
alocda(&da); 0962
1F type = randm THEN %get lsrt for this displavy area3 0963
BEGIN 0964
IF NOT (da.dalsrt _ getblk (nostrs * lsrtl, $dspblk))THEN 0965
ert (S"NLS error, out of display table space"); 0966
da.dalsrt _ da.dalsrt + bhl} %thlock header% 0967
&ls _ da.dalsrt:; 0968
Do 0969
BEGIN 0970C
ls.rtbps _ chbptr(empty) + &strl; 0971
1s.rthpe _ chbptr(strl.L) + &strl; 0972
IF &str2 THEN &strl _ &str2j 0973
ls.rtcsize _ base.icsize; 0974
ls.rtfont _ base.ifont:? 0978
Iserthine _ base.ihincs 0976
1ssptxl _ %3 0977
Isertx2 _ da.daright-da.daleft; 0978
Is.rty _ (v t= y + base.ivinc):; 0979
81s _ &ls+lsrtl; 0980
END 0981
UNTIL (nostrs _ nostrs -1) <= 0: 0982
END: 0983
RETURNC(&da); 0984
ERD.
0985

(getuldent) %get user”s ident, given his login directory number in

USER%

PROCENURE (user): 01586
% open group.index file and check user”s ident. If there is only
ene ident associated with this directory, use it. If there are
several, ask the user for his ident and check that it is in the
list. If there are no idents associated with this login
directory, give error message and halt. % 01587

LOCAL i, jfn, chain, bp, 1d4r237, wheelf, pcap, winit, idfrflag;
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LOCAL STRING errorstrC2001;

User _ user.RH:
wheelf _ 03
idfrflag _ nwheelf;
ifn _ O;
UN SIGNAIL ELSE
BEGTIN
UN SIGMAL ELSFE;
IF jfn THEN sysclose(ifn);
jtn _ 03
END3

%read id from file or get from user%
1F NOT idfrflag AND NOT (Jfn _ sgtjfn(1B1l, $qgrpfname ,
Serrorstr)) THEN
idfrflag _ TRUE:;
L7 NQOT idfrflag THEW
BEGIN
I[F NOT sysopen(ifn, rthawed, bintyp, Serrorstr) THEN
err($"File associating login directories with NLS id
is bad. Please report to ARC personnel.");
%get ident from group.index file or user?
IF NOT SKIP !sfptr(jfn, user*4) THEN

err (5"File associating login directories with MNLS

idents is had. Please report to ARC personnel.™)
!bin(ifn); %get user directory number and group numb

IF r2.LY NOT= user THEN
e;r(S“F;le associating login directories with NLS
idents is bad. Please report to ARC personnel.")

Ibin(3fn); %get first word of ident or link to chain
idents?
END ;
IF r2 = 0 OR idfrflag THEN
BEGIN

IF wheelf OFR idfrflag THEN idfrmuser ($initsr)

ELSE err($"no idents associated with this login directo
END

ELSE IF r2.LH = 184 THEN %chain of idents%
BEGIN

chain _ r2.RH;
%get ident from user%
idfrmuser ($initsr);
LOOF
BEGIN
IF NOT SKIP Isfotr(jfn, chain) THEN
err(S"cant set position in file associating login
directories an idents. Please report to ARC
personnel.");

thin(jfn); %first word of ident%
id _ r2;

Ibin(3fn); %second word of ident%
idC11 _ r2;

01588
01589
02148
01590
01592
01593
01594
01595
0159¢
01597
01598
01599
01600

01603
01604
01601
01602
01605
ents

01606
01607
01608

7/
01609
ers
01610
01611

F
01512
of

01613
01614
01615
01616
01617
ty");
01618
01619
01620
01621
01622
01623
01624
01625
01626
01627

01628
01629
01630
01631
01632
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IF initsrCl1l] = id AND initsrfC2] = idCl1 THEWN 016332
EXIT LOCP; %found a match, everything is ok% 01634
Ibin(3fn); %follow chain to next entrvy$ 01635
I (chain _ r2.RH) = 0 THEN %2end of chain% 01636
BEGIN 01637
IF NOT wheelf THEN err($"idenrt not in list associated
with this login directorv'™); 01638
typeas($"using ident not associated with this login
directory"); 01639
EXIT LOCP} 01640
END; 01641
END} 01642
END 01643
ELSE %get the ident?2 01644
BEGIN 01645
initsrfl1]l _ r2; 01646
thin(jfn): 01647
initseC21 _ r2; 01648
bp _ chbmty + Sinitsr; 01649
FOR 1 _ 1 Up UNTIL > 10 DO 01650
IF *bp = () THEN EXIT LOOP: 01651
initsr.L _ i-1; 01652
END; 01653
CASE initsr.L QOF 01654
> 4: 01655
err($"ident too long for use with NLS (max length is 4
characters)™): 01656
< 1: err(&"Illegal ident. Please report to ARC systenm
personnel."); 01657
ENDCASE:; 01658
{F jfn THEN sysclose(ifn)} 01659
fn _ 03 01660
“now put initials into cinit, packed into S5-bit% 01661
cinit _ setcinit($initsr): 01662
%see if pseudo wheel? 01663
i . 03 ' 01664
WHILE NOT nwheelf AND (winit_nwheecinitsCii:=i+131) # 0 DD 01565
IF winit=cinit THEN nwheelf_1; 01666
KETURN: 01667
END.
01668
(setcinit) PRCCEDURE (strng); 01061
LOCAL count, char, val:; 01062
REF strng; 01063
count _ val _ 0 01064
UNTIL (count _ count + 1) > strng.L DO 01065
BEGIN * 01066
CASE (char _ *strng*Ccountl) OF 01067
IN £°R, *Z7: char _ char=1008B; 01068
IN £°2, "67: char _ char - 278: 01069
ENDCASE err(5"Illegal character in id"); 01070
CASE count QOF 01071
=1: val.cintl _ char: 01072
=2% val.cint2 _ char; 01073
=3: val.cint3 _ char: 21074

ENDCASE val.cint4 _ char; 01075
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END; 01076
RETURN (val); 01077
KEND .

01078

01215

FLNISH 01216

This code can be deleted after l-august-74. == Charles 01217
(oldintdspda) PROCEDURE (tat, tab, tal, tar); %set up display areas

for display terminal (relative to position of text area)% 01218

%*sets up top six lines as control and literal feedback areas?

01219

steXt area% 01220

tatop _ tat; 01221

tabottom _ tab; 01222

taleft _ tal: 01223

taright _ tar: 01224
%1t viewspec? 01225

lttop _ tat - 4*tavincs 01226

ltbottom _ lttop + ltvinc: 01227

1tiaft . tals 01226

ltright _ 1tleft + 7*1thinc} 01229
%vievwspect 01230

vstop _ tat - 3*tavinc; 01231

vshottom _ vstop + vsvinc} 01232

vsleft _ tal; 01233

vsright _ wvsleft + T*vshinc: 01224
tname% 01235

namtop _ tat - 4*tavinc; 01236

nambottom _ namtop + namvinc; 01237

namright _ tar; 01238

namleft _ tar = 25*namhinc; 01239
%sybsystem name$ 01240

subtop _ tat = 3*tavinc; 01241

subbottom _ subtop + subvinc; 01242

subright _ tar; 01243

subleft _ subright = 25*subhinc} 01244
fCommand Feedbac!t Line2 01245

cfltop _ tat = 4*tavinc; 01246

ctlbottom _ cfltop + 2*cflvinc; 01247

cflleft _ ltright + cflhinc} 01248

cflright _ namleft = cflhinc; 01249
%tliteral feedhack: 01250

littop _ tator - 2*tavinc: 01251

Llitbottom _ tabottom; 01252

litleft _ taleft; 01253

Iiteight . tarights 01254
tmessage (tty) area% 01255

msgtop _ tat - G*tavinc; 01256

msgbottom _ msgtop + 2*tavinc: 01257

msgleft _ tal:s 01258

msgright _ tar; 01259
RETURN; 01260

END . 01261
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< NLS, FONLV.NLS3;6, >, B=FER=77 12:01 JDH ;;;; % FRONT EWD ONLY
CUMMANDS %

FILE tonly 2% L10 <rel-nls>foniv $%(110,) (rel-nls,fonly.rel,) % 02
$declarationss 03
REF rawchr, msgda, inpt, tda; 0%
REGISTER rl1=1, r2=2, r3=3; 02364
Feeae s ROUTINES FROM THE EDITOR SUBSYSTEM % 01879
fclears 01880
(xclear) %Execute Clear Command$g 02548
PROCENURE 02549
FFORMALS: 02550
(result, %result record: 02551
parsemode); %parsing, backup, cleanup% 02552
LOCAL da, v, length; REF da, result; 02553
i e e LT T T PP -—% 02554
CASE parsemode OF 02555
= parsing: 0255¢
BEGIN 02557
&da _ ttyda; 02558
length _ da.daright-da.daleft; 02559
FOR v _ da.datop UP da.davinc UNTIL = da.dabottom DD
02560
cline(da.daleft, y, length); 02561
END : 02562
ENDCASE; 02563
RETURN(&result):; 02564
END.,
02565
sconnect? 01205
(¥connect) %Execute Connect Command% 02464
PRCCEDURE 02465
%FORMALS® 02466
(result, %result record% 02467
parsemode, %parsing, backup, cleanup2 02468
entity, 2entity type? 02469
destination, %destination pointer2 02470
parameters); %“password or type of terminal
connection% 02471
LOCAL console, tp, dskcnil, dsken2, dirl, dir2; 02472
LOCAL STRING locstrCs02, erstngf20031, sendC103; 02473
REF 02474
result, entity, destination, parameters, tp; 024175
e it b TP 2 02478
CASE parsemode 0OF 02477
= parsing: 02478
CASE entity OF 02479
= 177 %- display -%: 02480
BEGIN 02481
ftp _ &destination+d2sel; 02482
*locstr* _ destination tp: 02483
console _ VALUE(Slocstr, 8): 02434
#suppress the current displays 0248%
shutdis(); 02486
CASE nldevice OF %turn tty simulation off2 02487
= devlproc: NULL; 02488

= imlac0, = imlacl: 02489
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BEGIN 02490
*send* _ begmsg, l+remfudge, remtsf; 02491
!sout(dspjfn, chbmty+$send, =send.L):

02492
END; 02493
ENDCASE %tasker% 02494
err{5"No Tasler"™): 02495
xconterm(console, IF parameters = 1 THEN TRUE ELSE
FALSE %2input flag2): 02496
LOOP inpt(): 02497
ENDs 02498
= 47 %= ttv -%: 02499
REGIN 02500
Etp _ &destination+d2sel:; 02501
*locstr* _ destination tp; 02502
console _ VALUE(S5locstr, 8); 02503
Xconterm(console, IF parameters = 1 THEN TRUE ELSE
FALSE %input flag%): 02504
IF parameters = S$input THEN 02505
LOOP inpt(); 02506
END; 02507
= 9 %= directory -%: 02508
BEGTN 02509
IF parameters = 0 THEN 02510
BEGIN % no password entered, ensure valid text
pointers anyway % 02511
FIND SF(*locstr*) "parameters; 02512
parametersC d2sel) _ parameters; 02513
paranetersl d2sel+1] _ parametersC11; 02514
EMND ; 02515
1giinf(); 02516
airl _ r23 02517
19tdal(IF tops20flag THEN -1 ELSE 0); 02518
dskenl _ r2 - rl; 02519
cconfildir(&destination, fdestination+d2sel,
Sparameters, Lparameters+d2sel); 02520
'g3inf () ; 02521
dir2 _ r2; 02522
1gtdal(IF tops20flag THEN -1 ELSE 0); 02523
dskcn2 _ r2 - rl1; 02524
I¥ dskcnl > 0 THEN 02525
BEGIN 02526
adname( Airl, S$locstr); 025217
*erstno* _ 02528
EOL, *locstr*, " QOVER ALLOCATION BY ",
STRING(dskcnl), " PACESIv; 02529
END; 02530
IF (dskcn2 > 0) AND (dirl # dir2) THEN 02531
BEGIN 02532
gdname( dir2, Slocstr):; 02533
*arstng* _ 02534
*erstng*, EOL, *locstr*, " OVER ALLOCATION BY
", STRING(dskcn2), " PAGES!IY; 02535
END » 02536
IF erstng.L THEN dismes(2, Serstng); 025237

END; 02538
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ENMDCASE err(notvyet); 02539
ENDCASE; 02540
RETURN(&result); 02541
END.
02542
(xconterm) 2Connect TTY Command% 02443
PROCEDURE (console, inout):; 02444
LOCAL i: 02445
linkecnsl _ TRUE; 02598
savnldevice _ nldevice; 02446
%arm control-S to remove this connected state% 02441
savchntabll1d _ chntabf1ll := $brkconnection .V 1B6; 0244%
%advise or link to designated terminal% 02449
IF inout THEN %advise% 02450
BEGIN 02451
FOR 41 _ 20 DOWN UNTTIL <= 0 DO 02452
REGIN 02544
IF SKIP 1adviz(2000004B5 .V console) THEN EXIT; (02545
1disms(1000); 02546
FND ; 02547
IF i <= 0 THEN 02454
err($"That terminal did not issue Accept Connection
command®); 02455
END 02456
ELSE %output linked only% 02457
BEGIN 02458
IF  NOT SKIP 1tlink(14B10 .V 777777B, console .V 400000B)
THEN 02459
arr($"Y"Unable to connect terminals"); 02460
ENDs 02461
RELURN 02462
END
02463
facceptt 02285
(xaccept) %Execute Accept Connection Command% 02368
PROCEDURE 02369
$FORMVALSS 02370
{result, %result record? 02371
parsemode, %parsing, backup, cleanup% 02372
inputf, 2input outpout or outputo onlvy% 02373
console); %1ine number of other terminal?% 02374
REF 02375
result, console, inputf; 02376
LOCAL i, tp, device, save; 02371
LOCAL STRING locstr C101, sendC1l01; 02378
REF tp: 02379
e e = -——— 02380
CASE parsemode 0OF 02381
= parsing: 02382
BEGIN 023863
device _ nldevice; 02384
savnldevice _ nldevice; 02385
%arm control=S to remove this connected state% 02386
savchntabC1] _ chntablfll := Strkconnection .V 1B6;
02387

&tp _ f&console+d2sel; 02388
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*locstr* _ console tp; 02389
linkensl _ VALUE(S$locstr, B): 0239¢
$set receive advisel 02391
IF inputf=1 THEN 02392
BEGIN 02393
FOR i _ 4 DOWN UNTIL <= 0 DO 02394
IF SKIP 1adviz(1000004B5 .V linkcnsl) THEN EXIT
LOO0OP; 02395
IF i <= 0 THEN 02396
err ($"That terminal not trving to connect to
vou'); 02397
1disms(5000); %wait 5 sec for things to settle
downg 02543
END} 02398
IF nldevice = devlproc THEN 02399
REGIN 02400
save _ enablw(); 02401
*locstr* _ UTTYM, console tp, “:, 0; 02402
IF NOT SXIP 1gtjfn(1B6, ($locstr+l) .V 18N6) THEN
02403
BEGIN 02404
linkensl _ 0; 02405
err($"unable to accept connection -- cant get
JFN") 02406
END; 02407
ldspiftn _ rl; 02408
IF NOT SKIP lopenf{ldspjfn, 100000385) THEN 02409
BEGIN 02410
reljfn(1dspifn); 02411
linkcnsl _ ldspjfn _ 0: 02412
err($"unable to accept connection -- cant open tty
in binary mode™); 02413
END; 02414
disabluw(save); 02415
END; 02416
IF nlmode = fulldisplay THEN 02417
REGIN 02418
%shut down NLS displavg 02419
shutdis(); 02420
CASE nldevice DOF %turn tty simulation off% 02421
= devlproc: NULL; 02422
= imlacO, = imlaci: 02423
BEGIN 02424
*send* _ begmsg, l+remfudge, remtsf; 02425
!sout(dspifn, chbmty+$send, -send.L); 02426
END; 024217
ENDCASE %tasker% 02428
err(5"No Tasker"); 02429
wrestore NLS display with proper formating and linked
display areas% 02430
%determine proper formatting% 02431
IF nldevice = devsri AND device NOT= devsri THEN
02432
setdev(device); 02433
continue _ TRUE}; 02434

KINTRLS, initdis>(); 02435
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continue _ FALSE;
allasp();
END;
END;
ENODCASE:
RETURN(&result);
END.

%disconnects
(xdisconnect) %Execute Disconnect Command2
PROCEDURE
EFORMALSS
(result, %result record%

parsemode); *parsing, backup, or cleanup$%

REF
result;
TR —— g
CASE parsemode 0OF
= parsing:
rstconnection()}
ENDCAS3E;
RETURN(&result);
EMD.

ttreeze%
(xfreeze) %Execute Freeze Command%
PROCEDURE
ZFORMALSY
(result, %result record%

parsemode, 2parsing, backup, cleanup%
destination, *destination pointers

vs); %viewspec pointer%

REF

result, destination, vs}
LOCAL da; REF da; % ptr to display area %

e e e %
CASE parsemode OF
= parsing:
BEGTHN

tda _ 1lda();
IF da.davspec.vsfrzf THEWN
dpset(dspstrc,destination,endfil,endfil)
ELSE dpset(dspno,endfil,endfil,endfil);
xfresta (&da, destination, vs, vsC11);
END:
ENDCASE;
KRETURN(fresult):;
END.

“trelease$
(xrelease) %Execute Release Command$
PEOCEDURE
(FORMALSS
(result, %result rescords
parsenode, %parsing, backup, cleanup%
entity, %entity type%

5

02436
02437
02438
02439
02440
02441

02442
01997
01998
0199¢
02000
02001
02002
02003
02004
02005
02006
02007
02008
02010
02011

02012
02013
02014
02015
02016
02017
02018
02019
02020
02021
02022
02023
02024
02025
02026
02027
02028
0202¢
02030
02031
02032
02033
02034
02035

0203¢
02037
02038
0203¢
02040
02041
02042
02043
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destination); %destination pointer% 02044

REF 02045

result, entity, destination; 02046

LOCAL dar REF da; 02047

e % 0204¢

CLSE parsemode OF 02049

= parsing: 02050

BEGIN 02051

&da _ 1da(); %display area addressg 02052

CASE entity OF 02053

= 178 %= frozen -%: 02054

BEGIN 02055

xrelsta (&da, destination):; 02056

END: 02057

= 95 %= all -%: %frozen statements? 02058

xrelallsta(&da); 02059

ENDCASE err(notvet); 02060

%if frozen viewspec, recreate everything, else nothing%

02061

IF da.davspec.vsfrzf THEN 02062

dpset(dspallf,destination,endfil,endfil) 02063

ELSE dpset(dspno,endfil,endfil,endfil); 02064

END; 02065

ENDCASE: 02066

RETURN(Sresult); 02067
END.

02068

Zsimulate? 02069

(Xsimulate) %Execute Simulate Command: 02070

PROCEDURE 02071

FFORMALSH 02072

(result, %result record? 02073

parsemode, %parsing, backup, cleanup? 02074

devicetype); %devicetype type% 02075

REF 02076

result, filename, devicetype:} 02071

LOCAL dev, modetype; 02078

B - e % 02079

CASE parsemode QOF 020890

= parsing: 02081

BEGIN 02082

dev _ strdev(&devicetype imodetvpe); 02083

xsimdev(lda(), dev, modetype); 02084

cspupdate _ FALSE} 02088

dpset(dspallf, endfil, endfil, endfil):; 02086

END: 02087

ENDCASE; 02088

RETURN(&result); 02089
END .

02090

3% 02091

(xcomment) PROCEDURE( 2 Execute comment command % 02567

4 FORMAL ARGUMEMNTS % 02568

resultotr, % ptr to result record % 02569

parsemode); % interpreter parsing mcde % 02570

REF resultptr; 02571
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REF rawchr, msgda, inpt, tda; 02572
LOCAL char: 02573
e ———— % 02574
CASE parsemode OF 02575
= parsing: 02576
BEGTH 02577
cspupdate _ FALSE; 02578
IF nldevice = devlproc THEN 02579
BEGIN 02580
tbout( dspifn, lpesc): 02581
lbout( dspifn, lpnocoor); 02582
END; 02583
echolt(); 02584
Laae 02585
CASE char _ inpt() OF 02586
= cachar, = CD: 02587
BEGIN 02588
IF nldevice = devlproc THEN lpcmode(); 02586
echoff(); 02590
RETURN (&resultptr); 02591
END; 02592
ENDCASE: 02593
END; 02564
KNDCASE; 02595
RETURN (&resultptr): 02596
END.
02597
%esees JUMP COMMAND SUPPORT % 02115
% MODIFY A BUG SELECT BY A DAF FOR JUMP % 02116
(x3jdae) PROC( %2 moéify bug selection by a dae % 02117
% FORMAL ARGUMENTS 2 02118
resultptr, % ptr to the return record % 02119
pmode, % parsing mode % 02120
sourceptr)y % ptr to the bug select record % 02121
% KETURNS % 02122
% wordl=-2, word3-4 text ptr to the modified selection %
02123
REF % VARIABLES % 02124
resul tptr, 02125
sourceptr; 02126
S e e i 5 0 a2 02127
% process according to parsemode % 0212686
CASE pmode QOF 02129
= parsing: 02130
BEGIN 02131
cueflg _ FALSE; 02132
resultptr _ sourceptr; resultptrCl11 _ sourceptrtl]; 3
02133
getaddr( &resultptr ); 02134
rasultptrf2] _ resultptr; resultptrC3] _ resultptrC13;
02135
END; 02136
ENDCASE} 02137
RETURN (&resultptr); 02138

02139
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% DNLS jump support routines 2 02140
(xringjump) PROCEDURE( % provides feedhack for stepping through
the rings for jump RETURN and jump FILE RETURN % 02141

% In Help, the back message show ugly link syntax.2 02271
% FORMAL ARCUMENTS % 02142
resultptr, % ptr to result record % 02143
parsemode, % parsing mode % 02144
entity); % entity type for the Jjump % 02145
LCCAL da, stid, stdb, len, cc, pvsl, pvs2, srr, filestraddr;
021486
LOCAL TEXT POINTER tpl,tn2; 02147
LOCAL STRING tempC201; 02148
REF resultptr, entity, da, srr; 02149
§ mmmmmmreme - % 02150
CASE parsemode 0OF 02151
= parsing: 02152
BEGIN 02153
#set da to current display area% 02154
&da _ lda(); 02155
CASE entity QOF 02156
= 37 %- return -%: 02157
BEGIN 02158
% advance through jump stack % 02159
readfrring(da.dalink, 0 & &srr); 02160
stid _ readsrring(&srr, srrcnt _ srrent+l @ cc,
ovsl, pvs2); 02161
%srrcnt is a global which is set to zero in
jrinitg 02162
%display the current statement% 02163
% display first 20 chars of stmt in name area %
02164
% get statement length % 02165
IF NOT lodprop( stid, txttyp : stdb) THEN
02366
err(S$"No text block associated with
node™); 02367
len _ Cstdbl.schars + 1; % number of chars
% 02167
% construct text ptrs to each end of stmt %
02168
tpl _ stid; 02169
telC1y _ 1; 02170
tp2 _ stid; 02171
tp2C13 _ MIN(20,1en); %truncate if over 20
; chars % 02172
% assign something to the string "temp™ %
02173
IF len > 1 THEN *temp* _ tpl tp2 ELSE
*temp* _ "<NULL>™; 02174
dn{Stemp); %display string% 02175
% save the current state in the result record %
02176
resultptreretstid _ stid; 02177
resultptr.retcc _ cc? 02178
resultptr.retvsl _ pvsl; 02179

resultptr.retvs? _ pvs2; 02180
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END 3 02181
= 36 %~ filereturn -%: 021R2
BEGIN 02183
% move through the link stack one position,
displaving the file name % 02134
filestraddr _ readfrring(da.dalink, frrcnt _
frrcnt+l @ &srr); 02185
%frrent is a global which is set to zero by
jrinit% 02186
dn (filestraddr); 02187
% save the values in the result record % 02188
resultptr.retstid _ readsrring(&srr, 0 * cc,
pvsl, pvs2); 02189
resultptr.retcec _ cc; 02190
resultptr.retvsl _ pvsl: 02191
resultptr.retvs2 _ pvs2; 02192
resultptr.retfn _ filestraddr; 02193
resultptr.retsrr _ &srr; 02194
END: 02195
ENDCASE err( notvet )j 02196
END; 02197
= backups 02198
= cleanun: 02199
dn{ §""); % clear the name area % 02200
ENDCASE; 02201
RETURN( &resultptr ); 02202
END.
02203
(jrinit) PROCEDURE( % initilize for jump return and jump file
return % 02204
% FORMAL ARGUMENTS % 02205
resultptr, 2 ptr to result record % 02206
parsemode, % parsing mode % 02207
entity); %ptr to entity record% 02208
REF resultptr, entity; 02209
§ e ———————— % 02210
CASE parsemode OF 02211
= parsing: 02212
BEGIN 02213
CASE entity OF 02214
= 37 %~ return -%: srrcnt _ 03 02215
= 36 %~ filereturn -%: frrcnt _ 0} 02216
ENDCASE err (notyet):; 02217
END; 02218
ENDCASE; 02219
RETURN( fresultptr ); 02220
END .
02221

(XJmpcntdisp) PRDOCEDURE( % JUMP utility function which displays
the current contents of the content buffer (conreg) in the name

window % 02222
% FORMAL ARGUMENTS % 02223
resultntr, % ptr to the result record % 02224
parsemode); % parsing mede % 02225

LOCAL tptr2; 02226

REF resultptr, tptr2; 02227
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f ommm e % 02228
CASE parsemode QOF 02229
= parsing: 02230
BREGIN 02231
Stptr2 _ &resultptr + d2sel; 02232

FIND SF(*conreg*) “resultptr SE(*conreg*) ~tptrz;
02233
dn( Sconreg ); 02234
END ; 02235
= hackup, 02236
= cleanup:? 02237
ang 5" 33 02238
ENDCASE; 02239
RETURN (&resultptr )3 02240

END .

02241

FINISH of frontend 01748



Fre coap
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< NLS, FRECORDS.NLS;S, >, 16=-JUL-76 07:18 JDH 3:;:::
FILE frecords % L10 <REL-NLS>frecords %% (L10,) (rel-nls,frecords.rel,)
% 0214
(initialvalues) RECORD 0215
1leftC 361, 0216
1irightC 361, 0247
i1topC361, 0246
ibottomC3632, 0245
icsizelC361, 0243
1tontC361, 0244
ihincC361, 0242
ivincl[367; 0241
% records for parser, select, pdata, psupport, etc. % 02
% for building ? string % 03
(fbhlprec) RECORD 04
hbforrisl, % forward pointer to next string % 05
hbbeckC183, % back pointer to previous string % 06
hbvalr3isl, % value of this string % 07
hbastrrC3671; % adr of this string % 08
SET EXTERNAL 0g
fhhlpl= 3; 0240
% SUBSYSTEM DISPATCH RECORD % 010
(sdispatch) RECORD % *** do not change this record without
changing the CHWML compiler which outputs this record *** % 011
dptnamel 361, 2 ptr to subsystem name string % 012
dptrunC181, % ptr to commands rule / 0 % 013
dbptvalidrC183, % dispatch record validation code % 014
dptinitrCl181, % ptr to initialization rule / 0 % 015
dptfinishC181, % ptr to termination rule / 0 % 01é
dptnotusedC187, % not yet used % 017
dptrentryC183; 2 ptr to rentry rule /7 0 % 01s
% VILEWSPEC RETURN RECORD % 019
(pvsrecord) RECORD 020
vs1f£361, % upcdated viewspec word 1 % 021
vs20361], %2 updated viewspec word 2 % 022
vscacodeC 183, 2 ptr to user content analyzer pgm % 023
vsusqcodlf18l3 % ptr to user sequence gen. pgm % 024
% a vieuwspec collection astring follows the pvsrecord in the
tunction state record % 025
% LEVADJ RETURN RECORD % 026
(plvrecord) RECORD 027
PlvcountC361; % resolved level adjust count % 028
2 u= +1, 4d= -1, etc % 029
%5 a level adjust collection astring follows the plvrecord in the
function state record % 030
% SELECTICN FETURN RECCERD % 031
(pselrecord) RECORD 032
s1tpl1C361, % text ptr to head of selection % 033
sltpl2C361, 034
s1tp21C361, % text ptr to tail of selection % 035
s1tp22C361; 036
% CUNFIRM RETURN RECORD % 037
(pconrecord) RECORD 038
pcomcodel363; % command completion code % 039
% KEYWORD RECOGNITINN RETURN RECCORD % 040

(pkeyrecord) RECORD 041
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pkstrptrC367; % ptr to global kevword string % 042

% SPSTACK ENTRV DEFINITIQONS % 043
(sbentry) RECOHD 044
shptrr18l, % ptr to subsystem grammar % 045
shnptrC1871, %2 ptr to subsystem name % 046
sbcountC181, % exXecution bound count % 047
shmoderC4], % subsystem processing mode % 048
sbpmodel41; % previous subsystem processing mode % 049

% SELECTLION STATE RECORD % 050
(selstate) RECORD 051
entypelf187, % selection entity type 3% 052
sallfunf181, % ptr to first processing function % 053
sel2funC181, % ptr to second processing function % 054
cflllenC7), % initial length of cfl buffer % 055
cfl2lent71, % length of CFL buffer after 15T sel % 056
nselectsC2], % number of selctions processed % 057
maxselectl21, % max # selects allowed % 058
litptrC161, % ptr to literal string in any % 059
dolitresetCl]; % true if need to reset lit % 060

% DEFINES LAVYOUT OF WORK AREA FOR SAVING STATE % 061
(staterec) RECORD 062
currcmf93, % current recognition mode % 063
optcountC71, % Soption nesting Aepth % 064
endoptC11, % end of opotional list flag % 065
optflagll3, % only opticnal kevwords acceptable % 066
firstinstC18], % ptr to first inst. in text 32 087
currinstrl181, % ptr to current inst. in text % 068
currpathC18], % ptr to current path stack record% 069
savstkC361, %2 saved value of ptrstk entry on hit% 070
savexr6l, % ptrx value when hit occurs % 071
tirstxr 61, % initial index in ptrstk % 072
nextxr 61, % next index in ptrstk 2 073
usrmodeld]; % current user recognition mode % 074

% UEFINES FUNCTION STATE RECORD % 075
(retrec) RECORD 076

% the following four lines represent a quick and dirty
temporary change to nls to fix the following problem. The
result record is being used by Keyworé recognizer to store
state information accessed via this record. However the parse
functions, notably xselect already use this area to stoore
their state information. The insertion of the four dummy wWords
in the record will hopefuly temorarily avoid the issue. %3 (0235

retrclC361, %dummy word used to offset record% 0236
retrc2f36], %dummy word used to offset record% 0237
retrc3C36], %dummy word used to offset record: 0238
retrc4lC 361, %dummy word used to offset record% 0239
retvalC367, ¥ return value % 077
inpsavr9gl, % starting index for inpt buffer % 078
thlenrC97, % initial length of feedback buffer % 079
keyinlengthro?, % current length of keyinpstr % 080
ksaveflagC91; % current value of keysaveflag % 081
% DEFINES MODE BITS IN COMMAND MODE FIELDS % 082
(moderec) RECORD 083
tnlscmdrC13, % availahle in TNLS % 084
dniscmérCl, % available in DNLS % 085
11cmdl11; % level 1 command (single char recognition) %
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086
% INTERPRETER INSTRUCTION FORMATS % 0817
(instformat) RECORD 0BE
alternativel183,% address of alternative instruction & 089
nsuccessorl[183, % address of nsuccessor instruction %
090
addrC181, % address/value field % 091
vai2r9a, % val2/ second value % 092
ctril3a, % control bits % 093
opcodel 61} % operation code 3 094
% CHARACTER ACTION RECORDS 2 095
(actions) RECORD % defines actions associated with the recognition
of a particular character % 096
propcodefl181,% opcode of process instruction % 097
insptrrflga, % ptr to first inst in grammar for this branch %
098
fbstrptrf181;y % ptr to prompt string associated with function
% 099
% FUNCTLION STATE RECDRD % 0100
(funstaterec) RECORD 0101
alwordC361, % first argument return word % 0102
aZwordC361, % second arg. return word % 0103
a3dwrordC361, % etc. % 0104
adwordl361, 0105
tlwordC361, %2 temporary storage for use by function 0106
to record state % 0107
t2uwordr3el, % ditto, etc. % 0108
t3wordC 361, 0109
t4wordL 361, 0110
tSuordrL361; 0111
% PATH STACK RECORD 2 0112
(pathsr) RECORN 0113
pfunctionC1f1], 2addr of processing function/ NULL% 0114
begnodeptrC1831, %nodeptr when starting to process node%
0115
curnodeptrC181, %nodeptr currently in use% 0116
markptrf1831, % ptr to last selection path % 0117
argcountf31, % number of arguments to the function % 0118
pmoder3l, %2 parsing mode % 0119
ptrxsavfsi, % initial »trx value % 0120
evalxsavl51, % initial evalx value % 0121
evalmodr21, % eval mode after mode was evaluted % 0122
IcounterC103; % frame counter % 0123
%KRecord Detinitions: 0124
(adarl) %allocate display area record for ri1% 0125
RECORD 0126
adaulyC103, %upper left y-cordinate% 0127
adaulxC101, %upper left ¥- cordinate% 0128
adasizels1, tmax no. of strings allowed in da% 0129
adaseqT11; ?* TRUE: sequential display area, FALSE: random$%
0130
(adar?) %*allocate displav area record for r2% 0131
RECURD 0132
adalryrlo01, %lower right y-cordinate% 0133
adalrxC101, %lower right x- cordinate? 0134

adadesrC27, %default character sizeg 0135
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adadhirsé1, %default horizontal increment% 0136
adadfrsl; 2default font%
0137
(ccdetline) RECORD % format of entries in table "ccthl" % 0138
ccdevicel71, % internal device code % 0139
cctypel71, ¥ cntrlchar % 0140
ccchart?73, % cntrlchar psuedonym 2% 0141
ccechol71; %2 to be echoed as % 0142
(cords) RECORD 0143
xcordl181, %x-cordinate for cursor word% : 0144
vcordC18]3; %v-cordinate for cursor word%
0145
(daidr) RECORD %daid record for remote displays% 0146
daidr2ré61, %low order 5 bits% 0147
daidrll6]; thigh order five bits% 0148
0149
(tormatr) RECORD %format byte in STRDA comwmand to remote displays%
0150
Xydsrii, %TRUE: use old coordinates, FALSE read coordinates
trom command string% 0151
sddC11, FTRUE: use default da character size% 0152
sdsC13, %TRUE: use old string character size% 0153
%#s5dd=FALSE AND sds=FALSE: read character size from command
string3 0154
iddcl3a, %ZTRUE: use default da horizontal increment$g 0155
idsr11, %TRUE: use o¢0lé@ string horizontal increment% 015¢
%21dd=FALSE AND ids=FALSE: read horizontal increment from
command string? 0157
tddri3a, 2TRUE? use default da font% 0158
fasC113 #TRUE: use old string font% 0159
#fdd=FALSE AND fds=FALSE: read font from command string$% 0160
0161
(frozen) RECORD 0162
fzvspecl361, 0163
tzvspc2C36], 0252
YfzstidC361, 0251
fznextri81, 0250
fzexislC11;
n24¢
DECLARE EXTERNAL 0164
frzl= 4;
0248
(Jstatesave) RECDORD % saves display area jump state info into
destination record % 0165
retstidC361, 2 stid of new target from return ring % 0166
retfnrl181, % address of file name string 2 0167
retccCl2], % char count of new target % 0168
retvs1C361, % viewspecs -- uword 1 2 0169
retvs2C361, % viewspecs == word 2 % 0170
retsrrrf361; % statement return ring address % 01711
(prrecord) RECORD % saves parse rule info for REPLACE PARSERULE
COMMAND 2 0182
prwrdlC361, % first word of replaced CML inst. % 0183
prwrd2C3s1, % second word of replaced CML inst. % 0184
praddrrcilsa, 2 address of replaced instruction % 0185

prexistsClJ: % TRUE if entry is still wvalid % 018¢
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(Scsrr) RECORD
scesizl21,
SCh inC"E&];
scfontl51;

(strdal) RECORD
sstridrf181,
sdaidl1B1;

(strda4d4) RECORD
sycordr101,
sxcordlf103,
scsizel31,
shinciC731,
sfontléd;

(termtype) RECORD %terminal tvpe (for use with strmt and rtrmt

jsies)%

trmtypL61, %terminal tvype code:

%set cursor record for r3%
Zcharacter sizel
%horizontal increment?
Ffont%

%string manipulation record for ri%
2string identiriert
2display area identifiert%

#string manipulation record for r4%
%y=cordinate%

%¥X- cordinate%

%character size%

%horizontal increment$%

%font%

grdtyplC41, %grid type%

notusedrC91,

Ttvlnoll81; %line number (-1= controlling ttv)%

(fmoderec) RECORD %file mode word (for use with rfmod, sfmod, and

Stpar jsiesZ)%
tmodrightC181,
neaded?

#replace this with more detailed breakdown as

ftmodcolL733 %columnst

(xc) RECORD Excord record for remote displays%

xczZL61, %low order 5 bits%
xclC67; thigh order five bits%
(vyc) RECAORD 3vcord record for remote displays$%
vcZLh1, %low order 5 bits%
vclC67; %high order five bits%

% Measurement records %

(mstjrec) RRCORD
msfitimeL 201,
msfmflaqgll3,
msfmtyp[31,
msffnolf91;

$ffjobltab word format2

$login time rel syst. startup in seconds$%

%2flag this job being measured2
fmeasurement type%
foutput file count (for file name%

(msrrec) RECORD %msrtab word format$

msrr0C91],
msrrl1r91,
msrr2r91,
msrr3f91;
DECLARE EXTERNRAL
msrtl=6, Enu

mber of words in msrtab%

msrmod=4; %number of fields in msrtab wordg
% Record definitions for HELP %

lpdy, pdpy, 1ltty%

E

-

(contrg) RECORD % a context ring item-- two words long 2%
constdrC 361, % stid of principal node of this context %

constklf181, % pointer to top of menu stack for this context %

%1t will be zero if unused %

0187
0188
0189

0190
0191
0192

0193
0194
0195
0196
0197
0198

0199

0200
0201
0202
0203
0204
02517

0253

0255
0254
0256
0205
0206
0207
0208
0209
0210
0211
0212
0263
0264
0265
0266
0267
0268
0269
0270
0271
0272
0273
0274
0275
0276
0217
0218
0219
0220
0221
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totentl151, % total number of items in the stack % 0222
stktypL33; % type of stack=-- menu, multiple, unused %

0223

(stkhd) RECORD % Cth eslement of context stack block % 0224

conlnkl361, % link to next block in this stack; -1 if unlinked, 0
1f a free block 2 0225
stkentC51; % number of elements in this block (<= 25) %

0226

(stkitm) RECORD % normal context stack elements; use word refereneces
rather than these fields to speed up. Just here for information %

0227
mnstdl361, % stid of this stack item & 0228
stkhshC361; % name hash of this item; =1 if no name. %
0225
(quspecs) RECORD %Query directives embedded in data base% 0230
querinecl13, %Include substructure at the node in the menu.%
0231
quercolC11, %During printout, "columnate"™ 311 menu items.%
0232
querprtCl1i, %Print QUERY viewspecs and links for debugging®
0233
queroptsCB83; %Sets the number of options printed at one time.%
0234

FINISH 0213
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€ NLS, FRONTEND.NLS.18, 2, 23-Feb-=78 15:09 JDH ;;:;: £ FRONT ENMD SUPPORT
CUDE %
FILE frontend % L10 <rel-nls>frontend 2%(110,) (rel=-nls,frontend.rel,) %

02
%declarationss 03
DECLARE EXTERMNAL 04
tbound = 0, bhound = 1, lbound = 2, rbound = 3, rtlast = 180; 05
VECLAKE EXTERRAL 06
hinc0 = 10, hincl = 14, hinc2 = 18, hinc3 = 22, vinc0 = 25, vincl
= 30, vinc2 = 35, vine3 = 45; 07
REGISTER r1 = 1, r2 = 23 08
REF tawchr, msgda, inpt, tda; 09
%""iiti!es in dlsplay areaSQanoc% 010
(trefint) PRCCEDURE; 011
“free and close files for files in file status table 012
that are“t referenced in display table dacsp or frozen 013
tistg 014
e -1 015
LOCAL fileno, used, fl, da, endfl, endda; 016
REF f1, da: 017
IF fillent NOT IN T0, filmaxl GR dacnt NOT IN Cl, damax] 01€
THEN 019
err(5"NLS svstem error"); 020
endf]l _ (&Ff1 _ $filst) + filcnt*filstl; 021
endda _ S$dpvarea + dacnt * dal; 022
tileno _ 1} 023
UNTIL &f1 >= endfl DN 024
BEGIN 025
1l¥F NOT fl.flnoclos THEN 026
IF fl.flexis TUER 027
BEGIN 028
§da _ $dpvareas 029
used _ FALSE; 030
UNTIL &da >= endda DO 031
BEGIN 032
TF filusd(fileno, &£da) THEN 033
BEGIN 034
used _ TRUE: 03¢&
EXIT; 036
END; 0317
&da _ &da + dals; 03d
END 3 039
IF NOT used THEU 040
BEGIN 041
3 042
&da _ Sdpvareas 043
MNTIL &da >= endda DD 044
BEGIN 045
Lfrr _ da.dalinks 046

ednfrr _ &frr + frrhlen + (frrelen*frr.frhlast);
047
FNE &fre _ &frr + frrhlen UP frrelen UNTIL > endfrr
DO 04p

IF [fre.frringJ.srhexis AND

Ffre.frringlesrhfileno = filano THEN 049

rfre.frringl.srhfileno _ 0; 050
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END;
%
close(fileno);
END;
END;
BUMP fileno;
&Ff1 _ &f) + filstl;
END:
RETURN:
END «

(tilusd) PROCEDURR (fileno, da);

*Given a file number and the address of a display area, this
routine returns TRUFE if the file is used in the frozen list or
associated with the display area; otherwise it returns FALSE.%
b -

e i TR P 2
LOCAL f1, f=z3
iR fl' ﬁz' da;
IF da.daempty OR da.dacsp = endfil THEN RETURN(FALSE);
IF fileno = da.dacsp.stfile THEN RETURN(TRUE);
Afz _ da.dafrzl;
WHILE &fz DO
BEGIN
IF fz.fzexis AND fz.fzstid.stfile = fileno THEN
RETURN(TRUE);
&fz _ fz.fzZnext:
END:
RETURN(FALSE);
KN,

HeeseeTile name and lock mMesSSagee«.3
(mesfre)PROCEDURE(f1, ptr);
REF f1:
Aismes(2, fl.flastr);
LF fl.fllock THEN lockmes(ptr.stfile);
RETURN;
END.

Taeeseganerate display....-'ﬁ
{recrad)
PROCEDURE:
IF cdtype = dspno THEN RETURN:%no display necessaryg
1F NOT namereset THEN dn(§"'")3; %clear name area%
LF cdtype = dspallf THEN %Srecreate all display areas%
<DSPCEN, alldsp>()

ELSE <USPGEN, seldsp>()j;%selectively recreate display areas%

RETURN
END .

2

(alldsp) PROCEDURF; ‘%recreate displayv for all display areass

*Issues Core-NLS calls to regenerate the displav image
for all of the currently defined text display areas.%
R e L LR %

LOCAL da, end, v, width;

LUCAL STRING AtmstqgCL207;

REF da;

IF dacnt NOT IN Tl,damax] THEN err(3$"fatal display error in

051
052
053
054
055
056
057
058
059

060
061

csp
062
063
064
065
066
0617
068
069
070
071
072
073
074
075
076
077
078
079
080
081
082
083

084
085
086
087
088
089
090
091
092
093
094
095
096
097
098
099
0100
0101
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ALLDSP"): 0102
IF NOT litreset THEN rstlit(); 0103
clearda(0); clrall(0, TRUE); 02553
end _ (&da _ 3dpvarea) + dacnt*dal; 0104
D0 IF da.daexis AND NOT da.daseg AND NOT da.dasuppress AND HOT
dae.daauxiliary THEN 0105
BEGIN 0106
IF nldevice = devlproc AND (lotype A 4M) = deltadata AND
da.daleft NOT= taleft THEN 02547
BEGIN 02550
width _ da.daright-da.daleft-1; 02551
FOR v _ da.datop UP da.davine UNTIL > da.damrow DO 02548
cline(da.daleft, v, width); 02549
END 02552
da.daccnt _ 17 0107
datrmt(&da, 0); 0108
END 0109
UNTIL (&da _ &da + dal) = end; 0110
% Reset ylobal display recreation parameters for line processor
rstlit. % 0111
IF nldevice = devlproc THEN dpset(dspipf, endfil, endfil, endfil);
0112
RETURN; 01113
KND . 0114
0115
(seldsp) PROCEDURE; %selective display recreate controlg 0116

$1ssues Core-NLS calls to update or reformat the display image for
each currently defined text displav area in which a file that wuas

modified is being displayed. Reformatting is usually needed only

if current viewspec parameters or the last viewspec change make

selective updating impossible.® 0117
S a 011t
LOCAL 0119
frmt, % call dafrmt flag % 0120
da, Stemp for walking thru da‘®s% 0122
£f1, £2, 2file numbers of files to be formated% 02269
end:? 2last word address in list of da“s% 0125
LUCAL STRING dtmstgC201]; 0126
KEF das 0127
0128
ginitialization$ 0129
IF dacnt NOT IN C[1l,damax] THEN 0131
err (S"DACNT out of range; detected in SELDSP"); 02259
IF NOT litreset THEN rstlit(); 0132
#replace all stid"s passed only as file indicators, not to be

used in reformatting% 0140

f1 _ IF cdstdl = endfil THEN endfil ELSE cdstdl.stfile?
02265

£t2 _ IF cdstd2 = endfil THEN endfil ELSE cdstd2.stfile;
02266
CASE cdtvpe OF 0141
= dspipf, = dspyes, = dspstrc, = dspallf : 02262
cdstdl _ cdstd2 _ endfil; 0142
ENDCASE; 02264
end _ (8da _ &dpyarea) + dacnt * dal; 0143

%2 search through da®s % 0144
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Do 0145
BEGIN %locate candidate for update or reformatg 0146

IF howformat(&da, fl, f2 : frmt ) THEN %reformat this ongﬁ
147
REGTIN 0156
IF frmt THEN %redo whole display2 0157
dafrmt(Rda, 0) 0158
ELSE %®selectively update displavye 0159
daupdate (&da); 0160
(da.dapvs, da.dapvs2) _ (da.davspec, da.davspc2); 0163
EMD 0164

ELSE fupdate window if there are suppressed statements?
02743
IF da.dalssup THEN daupdate(&da); 02744
END 0165
UNTIL (&£da _ &da + dal) = end: 0166
% remove bug marks from jump wWindows needing no recreate% 0167
IF cdtype = dspipf THEN bmoff(); 0168
% Reset global display recreation parameters2 0169
dpset(dspno, endfil, endfil, endfil); 02270
RETURN; 0171
ENU . 0172
0173

(howformat) PROCEPURE (da, fl, £2); %test if reformatting should
occur ror this displav area and ifso, should full reformatting occur

for this display area? 02640
LOCAL mask; 2used to mask out certain viewspecs: 02641
REF da; 026472

LF da.daexis AND NOT da.daseqg AND NOT da.daauxiliary AND NOT
da.dasuppress AND

(da.dacsp.stfile = f1 DR

da.dacsp.stfile = £2 0OR

(da.davspec.vsfrzf AND frzchk(&d&a, f1, £2))) AND

(cdtype NOT= dspipf OR &da = 1da())

THEN %should be reformatted% 02643
BEGIN %determine how to format it2 02644
mask _ -13 mask.vslev _ mask.vsrlev _ mask.vslevd _ mask.vsbrof
— mask.vsplxf _ 0; 02645

tmask out level fields% 02646

IF (((da.dapvs) .2 mask) # ((da.davspec) .2 mask))
%“crtical viewspecs have just changed?
Ok cdtype = dspallf
OR cdtype = dspves
OR da.davspec.vscakf
UE da.davspc2.vsmkrf
OR da.davspec.vscapf
OR da.davspec.vsusqgf
OF (da.davspec.vsstnf AND NOT da.davspec.vssidf AND cdtype NOT=
dsprfmt AND cdtype # dspjpf)
UR da.daempty
UR (da.davspec.vsrind AND (Jda.davspec.vsbrof OF
da.davspec.vsplxf) AND (cdtype NOT= dsprfmt) )
OR (cdtype = dspjpf AND (da.dapstf # da.dacsp.stfile))
THEN 02647
RETURN(TRUE, TRUE) %do ful) reformat? 02648
ELSE RETURN(TRUE, FALSE); %do partial reformat? 02649
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END
ELSE RETURN(FALSE, FALSE);
END

02650
02651
02652

(trzchk) PROCEDURE (da, filel, file2); %check frozen chain for file

memhership?

0174

#Returns TRIUE if there are anyy frozen statements from filel or

Tile? for displav area “da“; else FALSE?2
LOCAL fz, frzflg:
REF da, fz;

0175
0176
0177

LF NOT &fz _ da.dafrzl THEN RETURN (FALSE); %no chain, this da%

trzflg _ FALSE: %initial value%
Do
BEGIN
IF fz.fzexis THEN
IF fz.fzstidestfile = filel OR fz.fzstid.stfile = fila2

BUMP frzflg
ELSE NULL
ELSE err ($"illegal freeze list entry, frzchk");
END
UNTIL (&fz _ fz.fznext) = 0;
RETURN(frzflig);
END .
feeessbuild viewspec status stringeees-«%
(curvsp) PROCEDURE( % convert viewspecs to "human" string %
vspec, % address of viewspecs word(s) %
astrng); % address of string to append string %
LOCAL wspc:
REF vspec, astrng;
VsSpc _ Vspec:
2layel®
*astrng* _ *astrng*, "levels: ";
IF vspc.vslev = 63 THEN *astrng* _ *astrng*, "ALL"
ELSE *astrng* _ *astrng*, STRING(vspc.vslev);
Ztruncation%
*astrng* _ *astrng*, ", lines: "3
IF vspc.vstrnc = 63 THEN *astrng* _ *astrng*, "ALL"™
ELSE *astrng* _ *astrng*, STRING(vspc.vstrnc);
*astrng* _ *astrng*, ", ":
thranch only stuff2
*astrng* _ *astrng*,
IF vspc.vshrof THEN “g
ELSE IF vspc.vsplxf THEN °]
ELSE *h:
%2content analvsisg
*astrng* _ *astrng*,
IF vspce.vscapf THEN "i
FLSE IF vspc.vscakf THEN "k
ELSE "33
*statement numbers%
*astrng* _ *astrng*,
IF vspc.vsstnf THEN “m ELSE “n;
%frozen statsg
*astrng* _ *astrng*,
IF vspc.vsfrzf TFWEN ‘o ELSFE “p;

0176
017¢
0180
0181
0182
THEN
0183
0184
0185
018¢
0187
0188
0189
0190
0191
0192
0193
0194
0195
0196
0197
0198
0199
0200
0201
0202
0203
0204
0205
0206
0207
0208
0206
0210
0211
0212
0213
0214
0215
0216
0217
0218
0219
0220
0221
0222
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f#formattar on/nff% 0223
*astrng* _ *astrng*, 0224
IF vspc.vsdaft THEN *u ELSE "v; 0225
¢blank lines% 0226
*astrng* _ *astrng¥, 0227
IF vspc.vshlkf THEN “y ELSE “z: 0228
*indenting? 0229
*astrng* _ *astrng¥*, 0230

IF vspc.vsrind THEN “Q ELSE IF vspc.vsindf THEN “A ELSE "B

02635

¥namess 0232
*astrng* _ *astrng*, 0233
IF vspc.vsnamf THEN °C ELSE *D: 0234
tPagination? 0235
*astrng* _ *astrng*, 0236

IF vspc.vspaaf THEN "E ELSE °F: 0237
%stat nums left/right% 0238
*astrng* _ *astrng¥*, 0239

IF vspec.Vvsstnr THEN °G ELSE “H; 0240

Zstat nums or SID’s% 0241
*astrng* _ *astrnag*, 0242

IF vspc.vssidf THEN °1 ELSE *J; 0243
%(slgnature?% 0244
*astrng* _ *astrng*, 0245

IF vspc.vsidtf THEN "K ELSE “L; 0246
%user sequence generator? 02417
*astrng* _ *asttnag*., 024¢
IF vspc.vsusgf THEN "0 ELSE “pP; 0249

RETURN END.

0250

TesesefTeEZe statement SUPPOTtesesad 0251
(xrelsta) 0252
%This routine searches the chain of frozen statements. 0253
IT the stid passed it is in the frozen list for the display 0254
area passed it, the routine removes it from the list, 0255
squeezes the frozen list, and adds the deleted element to 0256
the fozen element free list.% 6257
fmm————- e ettt - 0258
PROCEDURE(dpa, stid); 0259
LOCAL frzorev, frzelm; 0260
REF dpa, frzorev, frzelm; 0261
IF &frzprev _ &frzelm _ dpa.dafrzl THEN LOQP 0262
BEGIN 0263
IF frzelm.fzstid = stid THEN 0264
BEGIN 0265
[F &frzelm = &frzprev THEN %first item in list% 0266
dpa.dafrzl _ frzelm.fznext 0267

ELSE frzprev.fznext _ frzelm.fznext} 0268
frzelm.fzexis _ FALSE; 0269
frzelm.fznext _ fzfree := &frzelm; D270

EXIT; 0271
END; 0272
Lfrzprev _ ffrzelm; 0273

17 frzelme.fznext THEN &frzelm _ frzelm.fznext 0274
ELSE EXIT: 0275

END; 0276
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RETURNS 02717
END . 0278
(xrelallsts) 0279
tGiven the address of a display area, this routine will 0280
free all of the frozen elements associated with the area.% 028%
P % 028
PROCEDURE (dpa); 0283
LOCAL frzelm: 0284
REF dpa, frzelm; 0285
IF &frzelm _ dpa.dafrzl THEN 0286
BECIN 0287
LCCF 0248
BREGIN 0289
frzelm.fzexis _ FALSE; 0290
IF NOT frzelm.fznext THEN EXIT 0291
ELSE &frzelm _ frzelm.fznext; 0292
END ; 0293
frzelm.fznext := fzfree 1= dpa.dafrzl := 0; 02914
END3 0295
RETURN; 0296
END . 0297
0298
(xfresta) 029¢
%6iven the addrss of a display are, an stid, and two 0300
viewspec words, this routine will create a frozen element 0301
tor the stid passed it, in the display area passed. If 0302
the stid is already on the frozen 1it for this area, the 0303
new vspec words will replace the o0ld ones for that element.% 0304
N e o a 0305
PROCEDURE(dpa, stid, vspecl, vspec2); 0306
LOCAL frzelm: 0307
REF dpa, frzelm; 0308
IF &frzelm _ dpa.dafrzl THEN 03009
BEGIN 0310
LCCOP 0311
BEGIN 0312
IF frzelm.fzstid = stid THEN 0313
BEGIN 0314
frzelm.fzvspec _ vspecl} 0315
frzelm.fzvspc2 _ vspec?; 0316
RETURN; 0317
END; 0318
IF frzelm.fznext THEN &frzelm _ frzelm.fznext 0319
ELSE EXIT; 0320
END; 0321
1¥ NOT fzfree THEN err(5): 0322
&frzelm _ frzelm.fznext _ fzfree i:= C[fzfreel.fznext; 0323
frzelm.fznext _ 0; 0324
END 0325
ELSE 032¢€
BEGIN 0327
{F NOT fzfree THEN err(5):; 0328
dpa.dafrz]l _ &frzelm _ fzfree 1= Cfzfreel.fznext; 0329
frzelm.fznext _ 0; 0330
END3: 0331

frzelm.fzstid stid; 0332
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frzelm.fzvspec _ vspecl; 0333
Irzelm.fzvspc2 _ vspec2; 0334
Irzelm.fzexis _ TRUE: 0335
RETURN; 0336
END. 0337

0338
Tesse.Simulate device type sSUPPOTtaeecess? 0339

(xsimdev) %Execute simulate Device Command$ 0340
PRUOCEDURE(da, devicetype, modetype):; 0341
HEF da: 0342
REF rawchr, msgda, tda; 01872
LOCAL oldnlmode; %for saving ced entry nlmode setting

(changed by setdev)% 0343
oldnlmode _ nlmode? 0344
17 devicetype MNOT= nldevice OR modetype NOT= nlmode THEN 0345
BEGIN 0346
continue _ TRUE; 01875
I modetype NOT= nlmode THEN 0347
BEGIN 0348
IF nlmode = fulldisplay THEN shutdis(); 0349
CINTNLS, setdev> (devicetype): 0350
initch(devicetype); 0351
initbtbhl(); 0352
IF oldnlmode = typewriter THEN % TNLS =--> DNLS & 0353
BEGIN 0354

I¥ savedda THEN %came from DVLS before =-- restore old
da% 0355
BEGIN 0356
&tda _ savedda := 0; 0357
tda.dasuppress _ FALSE; 0358
tda.dacsp _ da.dacsp: 0359
tda.dacent _ 13 0360
tda.davspec _ da.davspec; 0361
tda.davspc? _ da.davspc2; 0362
tda.dalink _ da.dalink := tda.dalink: 0363
tda.dafrzl _ da.dafrzl := 03 0364
tda.dapstf _ da.dapstf; 0365
tda.dacacode _ da.dacacode; 0366
tda.dausqgcod _ da.dausqcod; 0367
tda.daukeycod _ da.daukevcod; 0368
delda(fda := 0); 0369
END 0370
ELSE %first time% 0371
BEGIN 0372
continue _ FALSE; 01876
savetda _ &da; 0373
§tda _ newda(); 0374
CINTNLS, irtdafl> (&tda); 0375
tda.dacsp _ da.dacsp; 0376
tda.dacent _ 1: 0377
tda.davspec _ da.davspec} 0378
tda.davspc? _ da.davspc2; 0379
tda.dalink _ da.dalink := tda.dalink: 0380
tda.dafrzl _ da.dafrzl := 0; 0381
tda.dapstf _ da.dapstf: 0382
tda.dacacode _ da.dacacode; 03813
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tda.dzusqcod _ da.dausqcod; 0384
tda.daukevcod _ da.daukevcod: 0385
da.dasuppress _ TRUE; 0386
inittimer(); 0387
END; 0388
END 0389
ELSE % DNLS ==> TNLS % 0390
BEGIN 0391

IF¥ savetda THEN %came from THNLS before -- restore old
da% 0392
BEGIN 0393
Ltda _ savetda := 0} 0394
tda.dasuppress _ FALSE; 0395
tda.dacsp _ da.dacsp:? 039¢
tda.dacent _ 13 0397
tda.davspac _ da.davspec; 0398
tda.davspc? _ da.davspc2; 0399
tda.dalink _ da.dalink := tda.dalink: 0400
tda.dafrzl _ da.dafrzl := 0; 0401
tda.dapstf _ da.dapstf; 0402
tda.dacacode _ da.dacacode; 0403
tda.dausqcod _ da.dausqcod; 0404
tda.daukeycod _ da.daukeycoc; 0405
dalda(&da := 0); 0406
END 0407
ELSE %first time3 0408
BEGIN 0409
savedda _ &da; 0410
&tda _ newda():; 0411
<INTHNLS, intdafl> (&tda):; 0412
tda.dacsp _ da.dacsp} 0413
tda.dacent _ 1: 0414
tda.davspec _ da.davspec’ 0415
tda.davspc? _ da.davspc2; 041€
tda.dalink _ da.dalink = téda.dalink; 0417
tda.dafrzl _ da.dafrzl := 0; 0418
tda.dapstf _ da.dapstf; 0419
tda.dacacode _ da.dacacode: 0420
tda.dausgcod _ da.dausqcod; 0421
tda.daukeycod _ da.daukevcod; 0422
da.dasuppress _ TRUE; 0422
END; 0424
vspsav _ vspbsavlll _ 0} %vieuwspecs will be refreshed upon
reentry% 0425
END3; 0426
END; 0427
initdis(); 042¢€
continue _ FALSE; 01874
IF nlmode = fulldisplay THEN dsubsys( S$ssysname ); 01878
END: 0429
RETURN: 01871

END.

0433
BeseselRCcOrd session sSUPPOTtesess % 0434
(ctlgquit) PROCEDURE; %shut off control stuffg 0435

%close control file (if one is being used),

reinitialize control
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jfn“s, and reset subsystem name% 0436
g mm———————— % 0437
LOCAL jfn; 0438
&rawchr _ [F nldevice # devlproc THEN S$getchar ELSE 0439
IF altinp.l THEN S$lpaltgetchar ELSE $1lpaetchar; 02351
tset lowest level input routine to be simple get-a-character
routine® 0440
IF inpwatchjfn THEY jfn _ inpwatchifn %recording session$% 0441
ELSE 0442
If inpjfn THEN Jjfn _ inpifn %playback session% 0443
ELSE RETURN: 0444
1¥ NOT sysclose(jfn, 51it) THEN dismes(2, S1it); 0445
inopwatchjfn _ innjfn _ 03 044¢
rl _ nlssbrn _ getshbn(s"DNLS™); 0447
%1f control environment ever run from tty or net, should be
smart enough to figure out real name% 044¢8
1JS8YS setnm; 0449
RETURN; 0450
END .
0451
(xrecplasup) %record or plavback from file% 0452
PRUCEDURE(record, fl1, f2, rhostn); 0453
LOCAL jfn, gtiflg, opnflg; 0454
LUCAL STRING fnameCB01; 0455
REF f1, £2: 0456
CASE rhostn 0F 01751
= lhostn:i NULL} 01752
ENDCASE err($"Remote File Manipulations Not Implemented Vet"):
01753
IL¥ record THEN %recording input for later playback 0457
BEGIHN 0458
opnflg _ write; 0459
gtjflg _ gtioof; 046C
END 0del
ELSE 0462
BEGIN 0463
opnflg _ read; 0464
gtiflg _ gtjoif: 0465
END 3 0466
*fname* _ f1 £2; 0467
LF NOT jfn _ loet3jfn(0, $fname, Sctlext, gtjflg, $1it) THEN 0468
err(s§lit); 0469
LF NOT sysopen{(ifn, opnflg, chrtyp, $1it) THEN 0470
BEGTN 0471
reljfn(3ifn); 0472
err(slit); 0473
END 0474
IF record THEN 0475
BEGIN 0476
inpwatchifn _ jfn; 04717
sfor bin/bout zero bvte anomoly% 0478
rl _ jfn3 0479
r2 . 13 0480
1JSYS bout; 0481
END 0482

ELSE 0463
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BEGIN 0484
inpjfn _ jfn; 0485
rl _ nlssbn _ <AUXCOD, getsbn>(S"DNLCTL™); 048¢€
sTor bin/bout zero hyte anomoly® 0487
rl _ jfn: 0488
1J5¥S bing: 0489
END; 0490
&rawchr _ Scntrlaetchar; D491
%Zchange lowest level input routine to be one which knows about
control stuffs 0492
RETURN 0493
END,
0494
%’.-...BUXilllary inp‘ut Stuff----% 0495
(auxstartup) %***% PROCEDURE( %setup to do input from auxilary
source® 02559
ptrl, %pointar to TP for start of auxilary text3 02560
Ptr2); %pointer to TP for end of auxilary text$% 02561
LOCAL f1, stdblk: 02562
REF rawchrj %****taka out when through debugging? 0281¢
REF ptrl, ptr2, £1; 02563
% change dispatch for "rauchr™ to auxilary routine % 02564
auxsav _ &rawchr; %save current character dispatch% 02565
&rawchr _ Sauxchr; %and subsitute mine(lst time guy)$% 0256€
% release 014 statement if left around by mistake® 02820
IF auxwrk AND NOT auxwrk.stastr THEN 02821
REGIN 02822
stdblk _ lodprop(auxwrk, txttyp): 02823
frzblk(stdblk,=1); 02824
END 3 02825
% Ssetup work area and save text pointers % 02567
auxwrk _ auxtpl _ ptri; 02568
auxwrkC1l _ auxtplfll _ ptrlfl11; 02569
auxtp?2 _ ptr2; 62570
auxtp2C1]1 _ ptr2C13; 02571
% nail down file if not a-string % 02572
IF NOT auxtirke.stastr THEN 02573
REGLHY 02574
8f1 _ flntadr(auxwrk.stfile): 02575
fl.flnoclos _ TRUE} 02576
Zfreeze statement text? 02830
stdblk _ lodprop(auxwrk, txttyp); 02828
frzblk(stdblk, 1): 02829
%tan stid in auxwrk is a flag that the sdb is frozen in
NLS% 02831
%pass over statement name % 02827
auxwrkC1ll _ fchtxt(auxurk); 02826
END 3 02577
% setup work area % 02578
fechcl(forward, S$auxwrk); 02580
% Jam recognition mode to be "demand" 2 02581
auxmod _ recogmode; %1lst save current one % 02582
auxmd? _ recogz2mode; 02583
recoginode _ mdemand} 02584
recog2mode _ mdemand; 02585
auxinput _ TRUE; 02692
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* force to recognize upper/lower case 2 02809
CASE nldevice QOF 02810
= dev33, = dev35, =offline: initch(nettty); 02611
ENDCASE; G2812
RETURN? 02586
END. 02587
(auxchr) %***% DROCEDURE; %get characters for executable text$
02588
LOCAL char, stdblk; 0258¢
REF rawchr; %****take out when through debugging% 02842
LoCP 02590
IF (NOT inptrf) AND C(auxwrk # auxtp2 OR P0S auxwrk < auxtp2)
THEN %characters left to get% 02591
BEGIN 02592
4will this make process commands run faster 2% 02593
IF tenex < 13200 THEN 02630
REGIN 02631
ri _ 03 02632
1JSYS simch; 02633
END; 02634
% The JSYS makes the fork appear to the scheduler as though
it were just unblocked for character input% 02596
ON STGNAL FELSE auxinterminate():; 02597
CASE (char _ READC(Sauxwrk)) OF %2get the next charg
02598
= ENDCHR: 02599
IF NOT basestateflag THEN 02600
BEGIN 02601
% continue with normal input if end of statement
and in parse or executiong 02602
auxinterminate(); %go terminate auxilary input%
02603
RETIRN(rawchr()); 02604
END 02605
ELSFE 02606
BEGIN 02607
% release old statement? 02r32
IF auxwrk AND NOT auxwrk.stastr THEHN 02833
BEGIN 02834
stdbhlk _ lodpron(auxwrk, txttyp); 02835
frzblk(stdblk,=-1): 02836
END3 02837
auxwrk _ getnxt(auxwrk); 02608
%freeze statement text: 02838
stdblk _ lodprop(auxwrk, txttyp): 02839
frzblk(stdblk, 1); 02840
%an stid in auxwrk is a flag that the sdb is
frozen in NLS% 02341
auxwrkC1l _ fchtxt(auxwrk): 02609
fechcl(forward, Sauxwrk): 02610
REPEAT LOQP; 02611
END i 02612
ENDCASE 02613
BEGIN 02514
I¥ echofg THEN typech(char); 02615

RETURN(char): 02616
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EuD; 02617

END 02618

ELSE 02619

REGIN 02620

auxinterminate(); %go terminate auxilary input$ 02621

IF inptrf THEN 02622

BEGTH 02623

dismes(2, $"User Terminated Input"); 02624

RETNRE(CD) 02625

ERD 02626

ELSE RETURN(rawchr()); 02627

END; 02528

FND . 02629

(auxinterminate) PROCEDURE; %terminate auxilary input% 05586

LOCAL f1, stdblk: 0559

REF rawchr? %****take out when through debugging% 02851

REF fl3 0560

% reset recognition mode and char input routine % 0561

&Tawchr _ auxsav; Zreset where to get characters%® 0562

recogmode _ auxmod; %*reset recognition mode% 0563

recog2mode _ auxmd2; 0564

auxinput _ FALSE; 02693

% free up file if not a-string % 0565

IF NOT auxwrk.stastr THEN 0566

REGIN 0567

A1 _ flntadr(auxwrke.stfile); 0568

fl.flnoclos _ FALSE; 0569

% release o0ld statement% 02843

stdblk _ lodprop(auxwrk, txttyp); 02846

frzblk(stdblk,-1); 02847

% flag it as released % 02849

auxwrk _ 0} 02850

END; 0570

% reset upper/lower case translation % 02813

CASE nldeavice QF 02814

=cdev33, =dev3d5, =offline: initch(nldevice); 02815

ENDCASE: 02816

RETURN? 0571

END. 0572

%sesseScreen splitine Support Routines.....% 0573
(vsplit) #split window vertically%

PROCEDURE (left, cordsl, cords2); 0574

%split the displayv area (left) vertically, at the column
determined by cordsl and move the old display image to the right
or left depending on the cursor position for the final command

accept(passed as cords2).% 0575
I A —— g 0576
LOCAL 05717
right, %A (da entrv for richt (new) da)} 0578
lines, Znumber of lines in each da% 0579
Ccolumns, %number of columns in right dag 0580
lcolumns, %number of columns in left da% 0581
entry, Sutility cell? 0582
count, tutility cell® 0583
lbnd, %left da boundry + 20 chars? 0584

rbnd; 3right da boundry - 20 charsi 0585
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inin da is two lines by 20 columns% 0586
REF left, right; 0587
tNote: this version of vsplit allows as many columns as will fit
in window, i.e. damcol = daright%

0588
nmott(); 0589
¥check for valid split% 0590
lbnd _ left.daleft + (20*1eft.dahinc); 0591
rbnd _ left.daright - (20*left.dahinc); 0592
IF cordsl.xcord < lbnd THEN 0593
cordsl.xcord _ 1bnd; 0594
IF cordsl.xcord > rbnd THEN 0595
cordsl.xcord _ rbnd; 05596
I¥ cordsl.xcoré NOT IN Clbnd,rbnd) THEN 0597
RETURN(FALSE); 0598
tkright _ newda(): 0599
%¥get address of new da entrvd 0600
#*copy old da entry to new one% 0601
copvda(&left, &right); 0602
#turdate da boundries% 0603
richt.daleft _ left.daright _ cordsl.xcords 0604
tupdate max columns =-=- if wrapping, use the max (of window width
or display right margin); if not wrapping, use the min% 02685
right.damcol _ (right.daright - right.daleft)/richt.dahinc;
02686
IF (right.damcol > udpcolmax AND udpcolmax>0) OR (udpwrapcol>0
AND udpwrapcol < right.damcol) THERN 02687
right.damcol _ udpcolmax*right.datinc; 026 8E

left.damcol _ (left.daright - left.daleft)/left.dahinc; 026869
IF (left.damcol > udpcolmax AND udpcolmax>0) OR (Udpuwrapcol>0

AND udpwrapcol < left.damcol) THEW 02690
left.damcol _ udpcolmax*left.dahinc; 02691
supdate display buffer pointers% 0608
lines _ (left.dabottom=left.datop)/left.davinc; 0609
£get new display list entriest 0614
IF rtfree + MIN(60, 1lines*3) > rtlast THEN 0615
err(S$"Not enough line seaments, hsplit"); 0616
rtfree _ rtfree + MIN(lines * 3, 60); 0617
#reallocate old LSRT space% 0618
treelsrt (&§dspblk, £left): 0616

IF NOT maklsrt(sdspblk, lines + 2, &left) THEWN 0620
err (S"NLS out of space for LSRT"): 01787
%2llocate space for new LSRT% 0621

IF NOT maklsrt($dspblk, lines + 2, &right) THEN 0622
err (S"NLS out of space for LSRT™); 01788

IF cords2.xcord > cordsl.xcord THEN %right gets old displavgs 0623
BEGIN %zap left side% ’ 0624
left.dacsp _ endfil: 0625
3zap csp, frzlist, and link ring for this da% 0626
left.dafrzl _ 03 0627
left.daempty _ TRUE}; 0628
*empty window=--nothing hbeing displayed in it% 0629
left.dalink _ right.dalink := left.dalink; 0630
END 0631
ELSE %1left gets old displavs 0€32

BEGIN %zap right side% 0633
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right.dacsp _ endfil; 0634
%zap csp, frzlist, and link ring for this da% 0635
right.dafrzl _ 0; 0636
right.daempty _ TRUE; 0637
%tempty window=-nothing being displayed in it% 0638

END; 0639
left.darneighbor _ (&right - $dépyarea)/dal + 1; 0178Y
right.dalneighbor _ (&left - Sdpvarea)/dal + 1; 01832
%deallocate old da and get two new ones% 01781
dealocda(8left); 01762
right.dahandle _ right.dalhandle _ 0; 01763
<NLS, DSPGEN, alocda>(&left); 01764
<NLS, DSPGEN, alocda>(&right); 01765
RETURN(TRUE) 0658
EHD . 0659
0660

(hsplit) %split window horizontally$

PROCEDURE (top, cordsl, cords2); 0661
%split the display area (top) horizontally, at the row determined
by cordsl and move the o0ld display to the top or bottom Ada
depending on the cursor position for the final command accept

(passed as cords?2).% 0662
femmmem e —-——— 0663
LOC AL 0664
bottom, %i(da entry for bottom (new) da)$ 0665
columns, %number of columns in each da% 0666
tlines, tnumber of lines in top da% 0667
blines, %*number of lines in bottom da% 0668
entry, Futility cell® 0669
count, gutility cellg 0670
thnd, %top da boundry + 1 line% 0671
bhnd; %2pottom da boundry - 1 line? 0672
%$min da is two lines by 20 columns% 0673

REF top, bottom; 0674
bmoff(); 0675

#Note: This version of hsplit allows as many rows as will fit on
screen, i.e. damro® value = dabottom - datop value%

0676

%check for valid split?® 0677
thbnd _ top.datop + (2*top.davinc):; 0678
bbnd _ top.dabottom - (2*top.davinc); 0679

1¥ cordsl.vcord < thnd THEN 0680
cordsl.vcord _ tbnd} 0681

IF cordsl.ycord > bhnd THEN 0682
cerdsl.ycord _ bbnd; 0683

IF cordsl.ycord NOT IN Cthnd,bhbndl THEN 0684
RETURN(FALSE); 0685
Lbottom _ newdad(); 0686
%9et address of new da entrv® 0687
$copy old da entrv to new one% 06 8¢E
copvda(&itop, fbottom); 0689
fupdate da boundries® 0690
bottom.datop _ top.dabottom _ cordsl.vcord; 0691
tupdate max lines® 0693

blines _ (bottom.dabottom - bottom.datop)/bottom.davine; 0694
bottom.damrow _ Dbottom.dabottom - bottom.datop; %use all of
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available lines on screen% 0699
tlines _ (top.dabottom - top.datop)/top.davinc; 0700
top.damrow _ top.dabottom - top.datop - top.davinc; %one
line less than top of bottom window% 0692
%get rid of extra space on top LSRT% 0705
treslsrt(sdsphlk, &top): 0706
IF NOT maklsrt(Sdspblk, tlines + 2, &top) THEN 0707
arr ($"NLS out of space for LSRT"): 01790
*9get new display list entries for da called "bottom"™ % 0708
1¥ NOT maklsrt(Sdspblk, blines + 2, Sbhottom) THEN 0709
err (S"NLS out of space for LSRT"); 01791
IF cords2.ycord > cordsl.vcord THEN %hottom gets old display% 0710
BEGIN %zap top side? 0711
tor.dacsp _ endfil; 0712
%Zap csp, frzlist, and link ring for this da% 0713
top.dafrzl _ 0; 0714
top.daempty _ TRUE; 0715
Zempty window=-nothing being displaved in it% 0716
top.dalink _ bettom.dalink := top.dalink; 0717
END ' 0718
ELSE %top gets old displays 0719
BEGIN %zap bottom side% 0720
bottom.dacsp _ endfil; 0721
%zap csp, frzlist, and link ring for this da% 0722
bottom.dafrzl _ 0; 0723
bottom.daempty _ TEUE} 0724
zempty window=-nothing being displaved in it% 0725
END ? 0726
topP.dabneighbor _ (&bottom - Sdpyarea)/dal + 1: 01792
bottom.datneighboar _ (&top = $dpvarea)/dal + 1} 01833
#*deallocate old da and get two new onesg 01766
dealocda(&top); 01767
bottom.dahandle _ bottom.dalhandle _ 0} 01768
<NLS, DSPGEVN, alocda>(&top); 01769
<NLS, DSPGEN, alocda>(&bottom); 01770
RETURN(TRUR); 0745
END. 0746
0747

(boundry) %find nearest window edge%

PROCEDURE (dacords, margin); 02694
*Returns dano and coordinates for the point on the boundry 02695
nearest the passed coordinates and the type of boundry (tbound,

02696
bbound, lbound, rhound). If margin is TRUE, then margins are
Acceptable boundaries; otherwise the nearest internal boundary is

tound (if none exist, it calls err).% 02697
B o i et T % 02698
LOCAL 02699
da, top, bottom, left, right, dano; 02700
REF das 02701
TF dacnt NOT IN T1l,damax) THEN 02702
err(5"I1llegal dacnt, boundrv"); 02703
LF NOT &da _ dsparea(dano _ findda(dacords : dacords.xcord,
dacords.ycord)) THEN 02704
err($"findda failed, boundry™); 02708

top _ dacords.vcord - da.datop; 02706
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bottom _ da.dabottom - dacords.vcord; 02707
lett _ dacords.xcord = da.daleft: 02708
right _ da.daright - dacords.xcord; 02709
CASE MIN(left, right, top, bottom) OF 02710
= 3777778 err($5"No internal edge found."); 02711
= left: 02712
BEGIN 02713
dacords.Xcord _ da.daleft; 02714
IF margin 0Ok da.daleft # taleft THEN RETURN(dano, dacords,
1bound); %Ztype of boundry is lbound$% 02715
left _ 3777718; %2a large numbher$% 02716
REPEAT CLSE; %to check the next nearest boundary%
027117
END; 0271¢
= right: 02719
REGIN 02720
dacords.xcord _ da.daright; 02721
IF margin OF da.daright # taright THEN RETURN{(dano, dacords,
rbound); type of boundry is rhound% 02722
right _ 3777778B; %a large number% 02723
REPEAT CASE; %to check the next nearest boundarvi
02724
END 02725
= top: 02726
BEGIN 027217
dacords.ycord _ da.datop; 02728
IF margin OR da.datop § tatop THEN RETURN(dano, dacords,
thound); %tvpe of boundry is tbound% 02729
top _ 37777783 %a large number$% 02730
REPEAT CASE; %2to check the next nearest boundarv$%
02731
END; 02732
= bottom: 027323
BEGIN 02734
dacords.ycord _ da.dabotton; 02735
IF margin OF da.dabottom # tabottom THEN RETURN(dano,
daceords, bhound):; %type of boundry is bbound% 02736
bottom _ 3777717%8; %2a large numbar% 02737
REPEAT CASE} %to check the next nearest boundarvys
0273¢
END 3 02735
ENDCASE; 02740
END . 02741
02742

(movbrdry) %move window boundarvi

PROCEDURE (dal, ocords, ncords, type); 0797
%¥The cordinates “ocords” points to a boundry point (see boundry)
and “ncords” contains the cordinates of the user”s second
selection. Boundries can be moved at most as far as the nearest
neighbor in the direction of motion. If the selected boundrv is
hetween twc da*s whose boundries are the same in the orthogonal
direction, the boundry is adjusted only between those two da“s.
Ctherwise all da“®s who share that boundry will be adjusted.
Boundries at the edge of the screen can not be moved. Buffer
space will be reapportioned for all da“s after a boundry
adjustment.$ 0796
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e e e e ——— % 0g1z
LOCAL 0813
da2, dacord2, dano2; 0814
REF dal, da2; 0815
bmoff(); 01793
%2find neighbor on other side of selected boundry% 0817
dacord2 _ ocords; 0818
CASE tvpe OF 0819
= tbound: %top boundry selacted% 0320
dacord2.vcord _ dal.datop - 1: 0821
= bbound: 2bottom bourdry selectedt 0822
dacord2.ycord _ dal.dabottom + 1; 0823
= lbound: %left boundry selected% 0224
dacord2.xcord _ dal.daleft - 1; 0825
= rbound: %right boundry selected% 0826
dacord2.xcord _ dal.daright + 1; 03827
ENDCASE err(5"Illegal boundary type, moveboundarv™); 0828

IF NOT (8da2 _ dsparea(danc2 _ findda{éacord2))) OR
&dal = &da2 THERN 0829
err($"Tnvalid move request"); 0830
CASE type OF 06831
= thound: %top boundry of dal, bottom of da2% 0832
IF dal.daleft = da2.daleft AND 0R33
dal.daright = da2.daright THEN 0834
BEGIN %just move this boundry% 0835

IF ncords.ycord < da2.datop OR

{ncords.ycord-da2.datop)/da2.davinc < 2 THEN 0636
ncords.ycord _ daZ2.datop + (2*da2.davinc) 0837
ELSE 0838

IF ncords.vcord > dal.dabottom OR
(dal.dabottom=-ncords.ycord)/¢al.davinc < 2 THEN 0839
ncords.ycord _ dal.dabottom = (2*dal.davinc); O0R40
dal.datop _ da2.dabottom _ (ncords.ycord/tavinc)*tavinc;

0841
END 0842
ELSE %adjust all da”s which share this boundry% 0843
fixbnd(FALSE, dal.datop, ncords.ycord, FALSE): NB4a4
= hbound: %hottom boundry of dal, top of da2% 0845
IF dal.daleft = da2.daleft AND 0846
dal.daright = da2.daright THEN 0847
BEGIN %3just move this boundrv% 0844

IF ncords.ycord < dal.datop OR
(ncords.ycord-dal.datop)/dal.davinc < 2 THEN 0849
ncords.ycord _ dal.datop + (2*dal.davinc) 0850
ELSE 0851

IF ncords.vcord > da?2.dabottom OR
(da2.dabottom-ncords.vcord)/da2.davinc < 2 THEN 0852
ncords.ycord _ da2.dabottom = (2*da2.davinc); 0853
dal.dabottom _ da2.datop _ (ncords.ycord/tavinc)*tavinc;

0854

END 0855

ELSE 3%aAjust al)l da“s which share this boundry% 0856
fixbnd(FALSE, dal.dabottom, ncords.vcord, FALSE): 0857

= lbound: %left boundry of dal, right of da2% 0B58
IF dal.datop = da2.datop AND 0859

dal.dabottom = da2.dabottom THEN 0860
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BEGIN %just move this boundry? 0861
IF ncords.xcord > dal.daright OF
(dal.daright=ncords.xcord)/dal.dahinc < 20 THEN 0862
ncords.xcord _ dal.daright - (20*dal.dahinc) 0863
ELSFE 0864
IF ncords.xcord < da2.daleft CE
(ncorcés.xcord-da2.daleft)/da2.dahinc < 20 THEN 0865

ncords.xcord _ da2.daleft + (20*da2.dahinc); 0866
dal.daleft da?.daright _ (ncords.xcord/tahinc)*tahinc:

0867
END 0B8RS
FLSE %a2djust all da”s which share this boundrvy% 0B69
fixbnd(TKUE, dal.daleft, ncords.xcord, FALSE); 0870
= rbhound: %right boundry of dal, left of da2% 0871
IF dal.datop = da2.datop AND 0872
dal.dabottom = da2.dabottom THEN 0873
BEGIN %just move this boundrvs 0874

IF ncordss.Xcord < dal.dzaleft OR
(ncords.xcord-dal.daleft)/dal.dahinc < 20 THEN 0875
ncords.xcord _ dal.daleft + (20*dal.dahinc) 0876
ELSE 0877

IF ncords.xcord > daZ.daright 0OR
(da2.daright=-ncords.xcord)/da2.dahinc < 20 THEN 0E78E
ncords.xcord _ daZ2.daright - (20*daZ2.dahinc); 0879
dal.daright _ da2.daleft _ (ncords.xcord/tahinc)*tahinc:

0B8O

END 0881

ELSE %adjust all da"s which share this boundrv$ 0882
fixbnd(TRUE, dal.daright, ncords.xcord, FALSE); 0883

ENDCASE:; 0B84
Tixbuf(); 0885
tdlso deletes windows that are too small% 0886
RETUORN? 0887
END. 0888
0889

(tixbnd) %fix boundaries%

PROCEDURE (type, value, newvalue, allowdelete); 0890
% 1f tvpe is true then vertical boundry, otherwise horizontal. If
newvalue is farther from value than nearest neighbor, then set
newvalue to minus minimum size (20 colums or 2 lines). Search
display area record for vertical/horizontzl boundries = value and

replace them by newvalue?2 0891
T e DLt % 0897
LOCAL da, end: 0898
REF da: 0899
IF dacnt NOT IV C2,damsx] THEN 0900
err($"cannot move or delete margin edges™); 0901
end _ (&da _ S$dpvarea) + dacnt*dal; 0902
DO IF da.daexis THEN 0903
IF type THEN %vertical boundry% 0504
BEGIN 02339

IF da.daleft = value THEN 0905

BEEGIN 02324

IF allowdelete THEN 02353

REGIN 02367

IF newvalue > da.daright THEN 0906
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newvalue
END
ELSE
BEGIN

IF newvalue > da.daright -
rewvalue _ da.daright -

END
END
ELSE
BEGIN
I# da.daright = value THEN
BEGIN
TF allowdelete THEN
BEGIN
IF newvalue < da.daleft THEN
newvalue _ da.,daleft
END
ELSE
BEGIN
IF newvalue < da.daleft + (20*da.dahinc)
newvzlue _ da.daleft + (20*da.dahinc)
END
END
END
END
ELSE %horizontal boundrv%
REGIN
IF da.dabottom = value THEN
BEGIN
IF allowdelete THEN
BEGIN
IF newvalue < da.datop THEN
nevvalue _ da.datop
END
ELSE
BEGIN
IF newvalue < da.datop + (2*da.davinc) THEN
newvalue _ da.datop + (2*da.davinc)
mND
END
ELSE
BEGIN
IF da.datop = valus THEHN
BEGTIN
IF allowdelete THEWN
REGIN
IF newvalue > da.dabottom THEN
newvalue _ da.dabotton
END
ELSE
BEGIHN
IF newvalue > da.dabottom - (2*da.davinc) THEN
newvalue _ da.dabottom = (2*da.davinc)
END

< NLS, FRONTEND.NLS.18, >

da.daright

(20*da. dahine)

20

(20*da.dahinc) THEN

0907
0236H
02324
02370
02355
02356
02369

0908

0909
02365

0910
02373
02357
02372

0911

0912
02371
02358
02376
02359
02360
02375
02374
02366
02390

0915
023717

0916
02379
02361
02380

0917

0918
02382
02362
02381
02363
02364
02383
02378

0520
02386

0921
02388
02392
02399

0922

0923
02398
02393
02397

02394
02395
02396
02385
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END 02387
END 02384
UNTIL (8da _ &da + dal) = end; 0926
bda _ Sdbyareas 02325
DO IF da.daexis THEN 02326
IF type THEN ®vertical boundryv% 02327
BEGIN 02400
[F da.daleft = value THEN da.daleft _ newvalue 02328
ELSE IF da.caright = value THEN da.daright _ newvalue 02333
END 02401
ELSE %horizontsl boundry% 02339
BEGIN 02402
IF da.dabottom = value THEN da.dabottom _ newvalue 62340
ELSE IF da.datop = value THEN da.datop _ neuvalue 02344
END 02403
UNTIL (&da _ &da + dal) = end; 02350
RETURN: 0991
END « 0992
0393

(ri¥bul) %reapportion buffar space among all windous3
PROCEDURE 0994
*reapportion lsrt space amoung all of the da"s in the display area
record% 0995
S —— 2 0996
LOCAL end, da, lines, columns, rt, entry, height, width, db; 0997
REF da, entry; 0998

¥Note: This version of fixbuf sets mayx rows to bottom of da and
maX cclumns to far right%

0996
It dacnt NOT IN Cl,damax] THEN 01000
err($'"display area artor"); 01001
end _ (&da _ $dpvarea) + dacnt*dal; 01002
DO %check for windows to be deleted% 01836
IF da.daexis THERN 01837
BEGIN 01838
height _ da.dabottom - da.datops 01839
lines _ height/da.davinc; 01840
width _ da.daright-da.daleft; 01841
columns _ width/da.dahinc} 01842

[F height <= 0 OF lines < 2 0OR width <= 0 OR columns < 20
THEN 01843
delda(&da); 01853
TAD 01866
UNTIL (&da _ &3da + dal) = end; 01867
dda _ $dpyarea; 01868
Tt _ 17 01003
DO 01004
IF da.daexis THEN 01005
REGIN 0100¢
height _ da.dabottom - da.datop; 01007
lines _ height/da.davinc; 01008
width _ Ada.daright-da.daleft; 01009
columns _ width/da.dahinc; 01011
IF da.darnsziqghbor THEN columns _ columns=3; 01027

IF udpcolmax IN (0, columns) (OR (udpwrapcol AND udpwrapcol <
columns) THEN columns udpcolmax; 02636
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IFfF da.dabneighbor THEN lines _ lines-1;
%reapportion display list entries%
freelsrt($dspblk, &da):;

22

01796
01022
01023

IF NOT maklsrt(édspblk, lines + 2, &da) THEN err(s$"NLS

out of space for LSRT"):
da.damcol _ columns*da.dahinc:
da.damrow _ lines*da.davinc}

01024
0102¢
01028

da.damind _ MIN((da.damcol - da.daind)/da.daind*da.daind,

tamind*da.daind):
%deallocate and reallocate da%
dealocda(kda);
<NLS, DSPGEN, alocda>(&da);
END
UNTIL rt >= rtlast OR (&da _ &da + dal) = end;
IF &da < end THEN
no
IF da.daexis THEN
delda(&da)
UNTIL (&da _ &da + dal) >= end;
tupdate rtfree, next free Mentry"$%
rtfree _ rt;
RETURN;
END .

(lcrile) %2find the file represented in the window containing the

cursor during the last input control char%
PROCENURE:
%returns the file number of the csp of the display area
containing the cursor when the last character was input$
e ————— 3
LOCAL stid:
stid . lecsp();
RETURN(stid.stfile);
KD

(lcesp) %find Current Statement Pointer (CSP) for the window

containing the cursor during the last input control char%
PROCEDURE

%returns the csp of the display area containing the cursor

when the last character was input%

mm—————— ——————— %

LOCAL da;

REF da;

L¥ NOT (&da _ dsparea(lcda())) THEN
err(5"lcda failed, lccsp");

RETURN(da. dacsp, da.daccnt);

END,

02407
01771
01772
01773
01046
01047
01048
01049
01050
01051
01052
01053
01054
01055
01056
01057

01058
61059
01060
01061
01062
01063
01064
01065
01066

01067
01068
01069
01070
01071
01072
01073
01074
01075
01076
01077

(lcda) %find the window containing the cursor during the last input

control character%
PROCEDURE;
LUCAL dacords;

01078
01079

IF nimode = typewriter THEN RETURN((&Ltda=-Sdpyarea)/dal + 1, 0);

dacords _ lccords();

01080
01081

RETURN(firdda(dacords : dacords.xcord, dacords.ycord), dacords);
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01082
END. 01023
01084
(1da) % returns address of Display Area descriptor for the display
area where the cursor was the Last time a character was input %
PROCEDURE; 01241
RETURN (dsparea(lcda())): END.
01242

(lccords) %get coordinates associated with last control character
input#

PROCENDURE: 01085
LOCAL coordss 01086
coords _ 03 01087
I¥ inpjfn THEN 010838

BRGIN %read coords from control file% 01089
rl _ inpjfn; 01090
1J5Y¥S bin; 01091
coords.xcord.xcl _ r2; 01092
1JS8YS bin: 01093
coords.xcord.xc?2 _ 12} 01094
tJ5YS8 bin: 01095
coords.ycord.vcl _ r2; 01096
1J5Y¥S bing 01097
coords.ycord.vc?2 _ r2: 01098
END 01099
ELSE %use the fast jsys% 01100
IF tenex < 13200 THEN 02272
BEGIN 01101
1JSYS 407R; %read coords of last character® 01102
TM0OVSS £l 01103
coords _ rl; 01104
END 01105
ELSE coords _ gcords; 02273
LF inpwatchjfn AND (NOT recrunfil) THEN 01106
BEEGIN %write coords to control file% 01107
rl _ inpwatchifn; 01108
r2 _ coords.xcord.xcl; 01109
1J8YS bout: 01110
L2 _ coords.xcord.xc2; 01111
1JSYS bout; 01112
r2 _ cocrds.ycord.vel?} 01113
135YS hout; 01114
r2 _ coords.ycord.vc2; 01115
1J5¥5 bout} 01116
END; 01117
CASE nldevice 0OF 01118
= devlproc: 01119
HEGINM 01120
coords.ycord _ lpymaX - coorCds.ycord; %y-cord?% 01121
END; 01122
ENDCASE 01123
BEGIN 01124
coords.xcord _ coords.xcord * 2563 %x-cord% 01125
coords.ycord _ 01126
(bmarg-tmarg) - coords.ycord * 256; %y-cord% 01127

END ; 0112E
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RETURN(coords); 01129
END. 01130
01131
(rindda) %find the window which contains the passed ccordinates%
PROCEDURE (dacords): 01132
%do not round % 01133
LOCAL x, vy, da, end, bottom, right; 01134
REF da; 01135
IF dacnt NOT IVM rl1, damaxl THEN 01136
err($§"Illegal display area"); 01137
¥ _ MAX(MIN(taright, dacords.xcord), taleft); 01138
y - MAX(MIN(tabottom, dacords.vcord), tatop); 01139
end _ (&da _ Sdpvarea) + dacnt*dal; 01140
nn 01141
[F da.daexis AND NOT Jda.daseq AND NOT da.daauxiliary THEN 01142
BEGIN 02412
right _ da.daright; 02414
IF da.darneighbor THEN right _ right-1; 02415
bottom _ da.dabottom; 02416
IF da.dabneighbor THEN bottom _ bottom-1; 02417
IF x IN Cda.daleft, rightl
AND v IN Cda.datop, bottomd THEN 02411
RETURN((&da-S$dpyarea)/dal+l, %X, v); 01143
END 02413
UNTIL (&da _ &da + dal) = end; 01144
err(S"No valid File windows found in findda"); 01145
END . 01146
01147
(dsparea) %get window record address from window number -- returns
Zero 1f window is not allocated%
PRUCEDURE (dano); 01148
LOCAL entrv; 01149
I[F dano NOT IN C1l, damax) THEN 01150
err($"Illegal window identifier encourtered in DSPAREA"); 01760
entry _ S$dpyarea +(dano-1)*dal; 01151
IF NOT Centryl.daexis THEN 01152
err($"Illegal window identifier encountered in DSPAREA™); 02538
RETURN(entry); 01153
END. 01154
01155
(delda) %delete windeow
PROCEDURE (da); 01156
5does not reappropriate buffer space for the da=--just deletes
01157
da from displav area records and tss--fixbuf must be called to
0115¢
TeAappropriate the buffer space® 01159
A ————————— % 01160
LOCAL end, 1frozen, left, right, top, bottom; 01161
REF da, lfrozen, left, right, top, bottom; 01162
treset neighbor pointers of this da“s neighbors% 02352
IF da.dalneighbor THEN %fix left neighbor“’s right-neighbor
pointer% 01845
LOoap 02441
BEGIN 02442

§1eft _ dsparea(da.dalneighbor); 02434
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%see if top neichbors are LEFT®’s right neighbor®s also%

02527

Stop _ &da; 02435
WHTLFE top.datneighbor DO 02436
BEGIN 024317
&top _ dsparea(ton.datneighbor): 02539

IF top.datop IN [Cleft.datop, left.dabottom) OR
top.dabottom IN (left.daton, left.dabottoml THEN

02438
BEGIN 02444
left.darneighbor _ (f£top-Sdpvarea)/dal+l; 02440
EXIT LQOOP 2; 02446
END; 02445
END 3 02439

¢see if bottom neighbors are LEFT"s right neighbor’s
alsos 02528
&hottom _ &daj 02455
WHILE bottem.dabneighbor DO 02447
BEGIN 02448
&bottom _ dsparea(bottom.dabneighbor); 02540

IF hottom.datop IN Cleft.datop, left.dabottom) OR
bottom.dabottom IV (left.datop, left.dabottoml THEN

02449
REGIN 02450
left.darneighbor _ (&bottom-5dpyarea)/dal+1;
02451
EXIT LOQP 2; 02452
END; 02453
£ND 2 02454
left.darneighbor _ da.darneighbor; 02456
EXIT LODP: 02529
END 3 02443
IF da.darneighbor THEN %fix right neighbor®s left-neighbor

pointer% 018417
LOoP 02501
BEGIN 02457
&right _ Asparea(da.darneighbor); 02458

%see if top neighbors are RIGHT* s left neighbor®s also%
02530
Atop _ &das 02459
WHILFE tope.da.datneighbor DO 02460
BEGIN 02461
&top _ dsparea(top.da.datneighbor); 02541

IF top.datop IN Cright.datop, right.dabottom) OR
top.dabottom IN (right.datop, right.dabottoml THEN

02462
BEGIN 02463
right.dalneighbor _ (&top-Sdpyarea)/dal+l; 02464
EXIT LOOP 2; 02465
END; 02466
END3 02467

%see if bottom neighbors are LEFT”s right neighbor”s
also% 02533
&bottom _ &da; 02468
WHTILE bottom.da.dabneighbor DG 02469

REGIN 02470



GASZ, 14-Feh=T79 22:33 < NLS, FRCNTEND.NLS.18, > 26

tbottom _ dsparea(bottom.da.dabneighbor); 02542
IF bottom.datop IN Tright.datop, right.dabottom) OR
bottom.dabottom IM (right.datop, right.dabottoml

THEN 02471
RECGIN 02472
right.dalneighhor _ (fhottom=Sdpyarea)/dal+1;
02473
EXIT LOOP 2; 02474
END ; 02475
END: 02476
right.dalneighbor _ da.dalneighbor; 02477
EXIT LODE; 02531
END: 02478
IF da.datneighbor THEN %fix top neighbor*s bottom=-neighbor

pointer% 01849
Lonp 02502
BREGIN 02479
&top _ dsparea(da.datneighbor); 02480

%see if left neicghbors are TOP*s bottom neighbors also%
02532
Lleft _ &daj 02481
WHILE left.dalneighbor DO 02482
BEGIN 02483
&left _ dsparea(left.dalneighbor); 02543

IF left.daleft IN Ctop.daleft, top.daright) OR
left.daright TN (top.daleft, top.darightl THEN

02484

BEGIN 02485
top.dabneighbor _ (&1eft-S$dpvarea)/dal+l; 02486

EXIT LOOP 2 02487

END: 02488

END: 024389
%see if right neighbors are TOP"s bottom neighbors also%
02534

Sright _ &daj 02490
WHILE right.darneighbor DO 02491
REGIN 02492

&right _ dsparea(right.darneighbor): 02544

IF right.daleft IN Ctop.daleft, top.daright) Ok
right.daright IV (top.daleft, top.darightl THEN

02493
BEGIN 02494
top.dabneighbor _ (&right-$dpyarea)/dal+1l; 02495
EXIT LOOP 2; 02498
END; 02497
END: 02498
top.dabneighbor _ da.dabneighbor; 02499
EXIT LOOP; 02526
END 3 02500

IF da.dabneighbor THEN %fix bottom neighbor®s top-neighbor
pointer% 01851
LOoop 02503
HEGIN 02504
&hottom _ dsparea(da.dabneighbor); 02505

%see if left neighbors are BOTTCM*"s top neighbors alsc%
02535
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&left _ Kda; 025086
WHTLE left.dalneighbor DD 02507
BRGIN 02508
§left _ dsparea(left.dalneighbor); 02545

IF left.daleft IN Cbottom.daleft, bottom.daright)
OR leftedaright IN (bottom.daleft, bottom.darightl

THEN 02509
REGIN 02510
hottom.datneighbor _ (&left-$dpyarea)/dal+1;

02511

EXIT LOOP 2; 02512

END; 02513

FHND; 02514

%2see if richt neighbors are BOTTOM®"s top neighbors also%
02536

&right _ &da; 02515
JHILE right.darneighbor DO 02516
BEGIN 02517
&right _ @sparea(right.darneighbor); 02546

1F right.daleft IN Cbottom.daleft, bottom.daright)
OR righte.daright IN (bottom.daleft, bottom.darightl

THEYN 02518

BEGIN 02519
hottom.datneighbor _ (&right-5dpyarea)/dal+1;

02520

EXIT LOOP 2 02521

END; 02522

END: 02523

bottom.datneiaghbor _ da.datneighbor; 02524

EXIT LOOP: 02537

END ; 02525

#put frzlst entries on free list? 01163

IF &1frozen _ da.dafrzl THEN 01164

BEGIN 01165

WHILE &1frozen DO 01166

BEGIN 01167

1frozen.fzexis _ FALSE; 01168

81frozen _ 1frozen.fznext; 01169

END; 01170

l1frozen.fznext := fzfree := da.dafrzl := 0; 01171

END: 01172

¥release link stack2 01173

freefrring(da.dalink := 0); 01174

ttell tss system to delete da% 01774

17 da.dahandle THEN dealocda(&da)s 81T7T5

%deallocate core zssociated with LSRTS% 01188

treelsrt (5dspblk, &da); 01189

%clear out da da®? 01190

end _ &da + dalgs 01191

b0 da _ 0 UNTIL (&da _ &da + 1) = end; 01182

RETURN; 01193

END,. 01194

01195

(newda) %allocate naw wWwindow3
PROCEDURE ; 01196
LOCAL entry, end; 01197
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REF entry; 01194
IF dacnt NOT I™ r0, damax] THEN 01199
err($"I1legal dacnt, newda"); 01200
end _ (&entry _ Sdpyarea=-dal) + dacnt*dals; 01201
UNTIL (&entry _ fentry + dal) > end DO 01202
IF NOT entry.daexis THEN EXIT; : 01203
IF &entrv > and THEN 01204
BEGIN 01205
IF dacnt = damax THEN 01206
err(5"Too many display areas"): 01207
dacnt _ dacnt + 13 01204
END; 01209
antry.daexis _ TRUE: 01210
entry.dafrzl _ 0; 01211
entry.dalink _ newfrring(frrsize); %get return rings?2 01212
entry.dacsp _ endfil: 01213
entry.daccnt _ 1; 01214
entry.daempty _ TRUE: 01215
entry.cdaauxiliarv _ FALSE} %assume to be used for display
purposes? 01216
entry.dalsrt _ 0; %no space allocated vet% 01217
entrv.dalsidb _ ((&entry - Sdpyarea)/dal )* lshtsize +
Slsbitahles; 01776
dassnbit(entry.dalsidb, =1, lshtsize); 01777
RETURN(&entry); 01218
END., 01219
01220
(Copyda) %*copy contents of da excluding file return ring3
PROCEDURE (dafrom, dato); 01221
LOCAL end, dadest, frr, save; 01222
REF dafrom, dato, dadest, frr; 01223
ddadest _ Adato; %save original valuel 01224
save _ dato.dalsidb:; 01778
dfrr _ dato.dalink; 01225
%copv da entrvg 01226
end _ &dafrom + dal; 01227
Do 01228
HEGIN 01229
dato _ dafrom: 01230
BUMP &dato: 01231
END 01232
UNTIIL (&dafrom _ &dafrom + 1) = end; 01233
dadest.dalink _ &frr; 012314
dadest.dalsrt _ FALSE; %new da - no LSRT allocated: G1235
dadest.dashrin%cnt _ FALSE; 01236
dadest.dafrozen _ FALSE; 01237
dadest.dalsidb _ save; 01779
FO® end _ dafrom.dalsid UP UNTIL >= dafrom.dalsid +lsbtsize DO
01780
BEGIN 01781
Csavel _ Cendl; %copy 1sid bit table% 01782
BUMP save: 01783
END3 01784
KETURN? 01238
END. 01239

01240
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feeecoreturn ring routinesSecsee? 01243

(newfrring) % allocate a new file return ring %

PRUCEDURE (size):; 01245
LOCAL frr; 01246
REF frr; 01247
[F size NOT IN C1,frrmax] THEN err($"Illegal size requested for
tile return ring"); 01248
%tget frr block# 01249

dfrt _ getblk((size*frrelen)+frrhlen, $4dspblk) + bhl; 01250
IF &frr <= hh] THEN err($"Insufficient space for new file
return ring"); 01251
%init frr block? 01252
frr.frhlast _ size-1; 01253
frr.frhexis _ TRUE; 01254
RETURN(&frr); 01255
END. 01256

(treefrring) %free file return ring%

PROCEDURE (frh); 01257
LOCAL i, end, frr; 01258
REF frr, frh; 01259
LF NOT frh.frhexis THEN err(5"Tllegal file return ring"); 01260
end _ &frh + frrhlen + (frrelen*frh.frhlast); 01261
#“tree statement return rings% 01262

FOR &frr _ &frh +frrhlen UP frrelen UNTIL > end DO 01263

IF frr.frexis THEN freesrring(frr.frsrring); 01264

end _ end + frrelen-1; 01265
%Zero block as a precaution% 01266
FOk 1 _ &frh UP UNTIL > end DO Cil _ 0; 01267
*free blocks 01268
freeblk(&frh=bhl, S$dspblk); 01269
RETURN: 01270
END. 01271

(pushfrring) 2push file return ring%

PROCEDURE (frr, filename, fileno):; 01272
LOCAL srr, fre: 01273
REF frr, fre, srr, filename} 01274
IF NDOT frr.frhexis THEN err($"Illegal file return ring"); 01275
% zero file number of current top SRRING % 01276

&tre _ &frr + frrhlen + (frrelen*frr.frhtop); 01277

IF fre.frexis THEN 01278

REGIN 01279

&srr _ fre.frsrring; 01280

srr.srhfileno _ 0; 01281

END ; 01282

tincrement top-of-ring pointer% 01283

trr.frhtop _ IF frr.frhtop >= frr.frhlast THEN 0 ELSE

frr.frhtop+1; 01284

%get address of new top entrvsg 01285

&fre _ &frr + frrhlen + (frrelen*frr.frhtop); 01286

%1t there is an old statement return ring, free it% 01287
IF fre.frexis AND fre.frsrring THEN freesrring(fre.frsrring);

01288

%2allocate a statement return ring$% 01289

fre.frsrring _ &srr _ newsrring(srrsize)} 0129¢C

fre.frexis _ TRUE; 01291

tallocate a string for file name% 01292
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srr.sthfname _ getstring(filename.lL, $dspblk); 01293
%store auway file name and number? 01294
*Lsrr.srifnamed* _ *filename*; 01295
srr.srhfileno _ fileno; 01296
RETURN: 01297
END o 01298
(rTeadfrring) %Read file return ring entrv.%
PROCEDURE (frr, index): 01299
% case index of 01300
= 0: read top entry 01301
> 0 decrement over index good entries and return contents 01302
endcase’? 01303
¥returns address c¢f file name string (READ ONLY) and address of
statement return ringt 01304
f mmmmmmscccc e —a= 2 01305
LocaL i, stid, j, last, base, count, fre, srr; 01306
REF frr, fre, srr: 01307
LF NOT frr.frhexis THEN err(S"Illegal file return rinag™); 01308
%initializationg 01309
J _ frr.frhtops 01310
last _ frr.frhlast; 01311
base _ &frr + frrhlen; 01312
IF index ¢ 0 THEN 01313
err(s"I1llegal index in readfrring"):; 01314
count _ 0; %usad to detect empty ring% 01315
&Ire _ hase + (frrelen*j): %current top% 0131¢
¥OR 1 _ index Y0OD (last+1) DOWN UNTIL <= 0 DO 01317
BEGIN 01318
smove one entry% 01319
1 _ IF 3 <= 0 THEN last ELSE j -1} 01320
&fre _ base + (frrelen*j); 01321
tcontinue moving until find valid entry% 01322
UNTIL fre,.,frexis DO 01323
BEGIN 01324
3 _ IF 5 <= 0 THEN last ELSE j -1; 01325
&§fre _ hase + (frrelen*j); 01326
IF (count _ count+l) > last THEN 01327
arr($"ne entries in statement return ring =--
backfrring"); 01328
END: 01329
count _ 03 01330
END: 01331
1F NOT fre.frexis THEN err(S"current entry empty in readfrring™);
01332
&srr _ fre.frsrrings 01333
IF NOT srr.srhexis THEN 02408
err(3"Illegal statemment return ring detected in readfrringgiég
HETURKN(srr.sthfname, &srr)} 01334
END . 01335
01336
(trrlength) %return number of entries in the file return ring.%
PROCEDURE (frr); 01337
LoCAL i, j, k, last, base, count, fre, srr, top; 01338
REF frr, fre, srr; 01339

R i B e s 01340
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IF NOT frr.frhexis THEN 01341
err(3"Illegal file return ring in frrlength"): 01342
%2initialization% 01342
J _ top _ frr.frhtop; 01344
last _ frr.frhlast; 01348
base _ &frr + frrhlen; 01346
&fre _ base + (frrelen*top); ‘%current top% 01347
IF fre.frexis THEN % _ 0 ELSE k _ 13} %see end of proc% 02817
count _ 0; 01348
UNTIL frez.frexis DO 01349
BEGIN 01350

J _ IF j <= 0 THEN last ELSE j -1; 01351
dfre _ base + (frrelen*j); 01352

IF (count _ count+l) > last OR j = top THEN 01353
RETURN(=1); 01354

END 3 01355
FOR i _ 0 0UP ONTIL > last DO 01356
BRGTN 01357
tmove one entry% 01358
J _ IF j <= 0 THEN last ELSE j -1: 01359
Kfre _ base + (frrelen*j); 01360

IF 3 = top THEN FXIT LOCP; 01361
scontinue moving until find valid entry% 01362
count _ 0; 01362
UNTIL fre.frexis DO 01364
BEGIN 01365

j _ IF 3 <= 0 THEN last ELSE j -1; 01366

&fre _ base + (frrelen*j); 01367

IF 3 = top THEN EXIT LCOP 2; 01368

IF (count _ count+1) > last THEN 01369
RETURN(=1); 01370

END; 01371

END; 01372

i _ 1+ %; %to take account of the different way readfrring acts
1f the top entrv is empty:; need the count of entries to include

that oned 02618
RETURN(L); 01373
END 01374
01375

(upls*tnm) Zchange file name ofn to nfn in all file return rings$%
PROCEDURE (ofn, nfn); 01376

%ofn, address of string containing complete old file name% 01377
infn, address of string containing complete new file name% 01378

LOCAL da, end, i, str, len, srr; 01379
REF ofn, nfn, da, str, srr; 01380
e, e ———— % 01381
anc _ Sdpyarea + dacnt*dal; 01382
FOR &da _ Sdpvarea UP dal UNTIL > end DQ 01383
IF da.daexis THEN 01384
BEGINM 01808

len _ frrlength(da.dalink); 01810

FOR 1 _ 0 P UNTIL > len DO 01385

BEGIN 01799

ON SIGNAL ELSE REPEAT LOCP; 01813

&str _ readfrring(da.dalink, i: &srr): 01812

ON SIGNAL ELSE; 01814
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IF &str AND (*str* = *ofn*) THEN 01386

BEGIN 01387

IFf str.¥ < nfn.L THEN 01388

BEGTIN 01389

freestring(&str, Sdspblk); 01320

&str _ getstrinao(nfn.L, $dspblk); 01391

str.sthfname _ £&str; 02806

END 01392

*str* _ *nfn*; 01393

END; 01394

END; 01800

END; 01809

 RETURN: 01395
END.

01396

(mkdelfrr) PROCEDUORE (frr, filename); 02761

tMark file return ring entries for deleted files. Set frexis
field to FALSE, and free associated statement return ring% 02792

LOCAL fre, srr, frrfnamej} 02793
REF frr, fre, srr, frrfname, filename; 02794
FOH &Ire _ &frr + frrhlen 7P UNTIL > &frr + frr.frhlast + frrhlen
uo 02795
IF fre.frexis THEN 02796
REGIN 02797
&srr _ fre.frsrring; 02798
Lfrrfname _ srr.srhfnames 02799
IF *frrfname* = *filename* THEN 02800
BEGIN 02801
fre.frexis _ FALSE; 026802
freestring(&srr, dspblk); 02803
END; 02804
ENDs 02805
RETURN; 02806
END. 02807
(newsrring) 2allocate a new statement return rings
PROCEDURE (size): 01397
LOCAL srr; 01398
REF srr; 01399
TF size NOT IN Cl,srrmax] THEN err($"Illegal size requested for
statement return ring"™); 01400
*get srr block? 01401
&srr _ gethlk((size*srrelen)+srrhlen, S$dspblk) + bhl: 01402
IF &srr <= bhl THERN 01403
earr($"Insufficient space for new statement return ring");
01404
%init srr block% 01405
Srr.srhlast _ size-1; 01406
srr.srhexis _ TRUE; 01407
RETURN(&srr); 01408
END., 01409
(treesrring) 3free statement return ring%
PROCEDURE (srh); 01410
LOCAL i, end: 01411
REY srh; 01412

LF NOT srhe.srhexis THEN err($"Illegal statement return ring®);
01413
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$#free file name string? 01414

IF srh.srhfname THEN freestring(srh.srhfname, S$dspblk); 01415

SThesrhfname _ 0} 01416

%zero block as a precaution® 01417

end _ &srh + srrhlen + (srhe.srhlast*srrelen) + srrelen-1; 01418

FOR 1 _ &srh UPF UNTIL > end DC Cil _ 0; 01419

tfree block% 01420

freeblk(&srh-bhl, Sdspblk); 01421

RETURN S 01422

END. 01423
(copysrring) %copy statement return ring?%

PROCEDUPE (fromsrr, tosrr); 01424

%does not change file name string or file number in tosrr. Copies
body of fromsrr to tosrr and set top-of=-ting in tosrr to

correspond with fromsrr.% 01425
LOCAL i, end; 01426
REF fromsrr, tosrr; 01427
IF NCT fromsrr.srhexis OR NOT tosrr.srhexis THEN 01428
err(s"Illegal statement return ring in copysrring®); 01429
%caopy block% 01430
end _ srrhlen + (tosrr.srhlast*srrelen) + srrelen=-1; 01431
FOR i _ srrhlen UP UNTIL > end DO tosrrlil _ fromsrrCil; 01432
tosrr.srhtop _ fromsrr.srhtop:; 01433
RETURN; S
END ., 01435

(pushsrring) %push contents onto statement return ring%

PROCEDURE (srr, stid, cc, vsl, vs2); 01436
tincrement and store% 01437
LUCAL srej; REF sre:; 01438
REF srr; 01439
tverify file number% 01440

IF srr.srhfileno AND stid.stfile NOT= srr.srhfileno THEN 01441
err{¢"file numbers cdo not match ir pushsrring"); 01442
#increment top-of-ring pointer% - 01443
srrs.sthtop _ IF srr.srhtop >= srr.srhlast THEN 0 ELSE
Srre.srhtop+1; 01444
#get address of top entry% 01445
&sre _ &srr + srrhlen + (srrelen*srr.srhtop); 01446
tstore new valuess 01447
sre.srpsid _ stid.stpsid: 01448
STe.srcc _ cc; 01449
Sre.srvsl _ vsl; 01450
STe.5CVS2 _ vs2: 01451
Sre.srexis _ TRUE} 01452
RETURN 01453
END, 01454

(storesrring) %store contents onto statement return ring. INDEX has
the same semantics as in readsrring.%

PROCEDURE (srr, index, stid, cc, vsl, vs2); 02745
LOCAL sre, i, j, last, base, count: 02746
REF srr, sre; 02747
$verifv file numher% 02748

IF srr.srhfileno ANWD stid.stfile NOT= srr.srhfileno THEN 02749
BEGIN 02750

dismes(1l, S$"Bad file number in stmt return ring; advise you
~"C, reset, and call NLS."); 02751
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RETURN; 02752
END3 02753
CASE index OF % pick out the srr entry to update % 02754
%> SIr: Asre _ index; caller specified entrv3 02755
= 0% 4&sre _ &srr + srrhlen + srrelen*srr.srhtop; %top% 02756
ENDC ASE %use index to entry as in readsrrings 02757
REGIN 02758
j _ srre.srhtop; 02759
last _ srr.srhlast; 02760
base _ &srr + srrhlen; 02761
count _ 0; 3%used to detect empty ring3 02762

IF index < 0 THEN err(S"Illegal! index in storesrring™);
02763
Aste _ base + (srrelen*j); 02764
FOR 1 _ index M0OD (last+1) DOWN UNTIL <= { DC 02765
BEGTIN 02766
fmove one entry% 02787
j_ IF j <= 0 THEN last FLSE j -1:; 02768
§sre _ base + (srrelen*j); 02769
Zcontinue backing up until find valid entry% 02770
JUNTIL sre.srexis DD 02771
BRGIN 02712
j _ IF j <= 0 THEN last ELSE j -1 02773
&sre _ hase + (srrelen*j); 02774
IF (count _ count+l) > last THEN 027175

err(5"no entries in statement return ring ==
storesrring"); 02776
END; 02771
count _ 03 027778
END3 02779
IF NOT sre.srexis THEN 02780
ert($"current entry empty in storesrring"); 02781
END; 02782
%5T0re new values% 02783
sre.srpsid _ stid.stpsid; 02784
Sre.SIrcc _ cc’ 02785
sre.srvsl _ vsl; 02786
STre.srvs?2 _ vs2; 02787
Sre.srexis _ TRUE: 02788
RETURN; 02789
END, 02790
(readsrring) 2Read statement return ring entry.% 01471
PROCEDURE (srr, index):; 01759
% case indeyx of 014172
= 0: read top entry 01473

> 01 decrement over index good entriss and return contents
01474
endcase}*® 01475
¥returns stid, cc, vsl, vs2% 01476
% mmmmec e % 014717
LOCAL i, stid, j, last, base, count, inc, sre; 01478
REF srr, sre; " 01479

LF NOT srr.srhexis THEN err($"Illegal statement return ring");
01480
tlnitialization% 01481

stid _ 0; 02683
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stid.stfile _ srr.srhfileno:;
jJ — srr.srhtop;
last _ srre.srhlast:;
base _ &srr + srrhlen;
count _ 0; %used to detect empty ring%
IF index < 0 THEN err(3"Illegal index in readsrring");
&sre _ hase + (srrelen*i);
#move through the ring®
FOR i _ index ¥0OD (last+1) DOWN UNTIL <= 0 DO
BEGIN
%fmove one entrv%
j _ IF 3 <= 0 THEN last ELSE j -1;
&sre _ base + (srrelen*j);
*continue backing up until find valid entry%
UNTIL sree.srexis DO

BREIN

3 _ TF 3 €= 0 THEN last ELSE j =13

&sre _ base + (srrelen*j);

IF (count _ count+l) > last THEN
err(S%"no entries in statement return ring =--
readsrring");

END ;

count _ 0;
END3
IF NOT sre.srexis THEN
erc(&'current entry empty in readsrring"™):
stid.stpsid _ sre.srpsid;
RETURN(stid, sre.srcc, sre.srvsl, sre.srvs2);
BENU,

(srriength) %return number of entries in statement return ringe.
PROCEDURE (srr):

LOCAL i, j, last, base, count, sre, top;

HEF srr, sre;

¥ NOT srr.srhexis THEN
err($"Illegal statement return ring in srrlength");
3initializationg
3 - top _ srr.srhton;
last _ srr.srhlast}
base _ &srr + srrhleny
&sre _ base + (srrelen*top);
count _ 0;
UNTIL sre.srexis DO
REGIN
j _ IF j <= 0 THEN last FLSE j -1;
&sre _ bhase + (srrelen*j);

IF (count _ count+l) > last OR j = top THEN
RETURN(OD);
END;

fcount valid entries in the ring?
FOR i _ O 0Gp UNTIL > last DO
REGIN
fmove ona entrvs
3 _ IF 3 <= (0 THEN last ELSE j =-1;

&sre _ hase + (srrelen*j);

01482
01483
01484
01485
014860
01487
01488
01489
01490
01491
01492
01493
01494
01495
01496
01497
01496
01499
01500

01501
01502
01503
01504
01505
01508
01507
01508
01509
01510

01511
01512
01513
01514
01515
01516
01517
01518
01519
01520
01521
01522
01523
01524
01525
0152¢
01527
01528
01529
01530
01531
01532
01533
01534
01535
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IF

j = top THEN EXIT LOOP;

%continua backing up until find valid entrvs
count _ 0O:

UNTIL sre.srexis DO

END;
RETURN(Ci);

END,

BEGIN

5 _ IF j <= 0 THEN last ELSE j -1;

§sre _ bhase + (srrelen*j);

IF 3 = top THEW EXIT LOOP 2;

IF {(count _ count+l) > last THEN
RETURNCO)}

END ;

Y¥eesesEXxecute Edit RoutineSeesceeesd
(editx) PROCEDURE (ptr):

ke b L B e %

LOCAL
char, %last character read$
numb,
insrtf;

REF ptr;

LOCAL TEXT POINTER 21, z2, ptr2;
CCPOS SF(ptr):;

*1it* _ NULL; %INITIALISE STRING%
crlt();
echoff();
insctf _ FALSE;
¥deactivate ~0) and ~S interrupts?®
rl _ 4B5; r? _ 240000004000Ej; 1J5YS dicy
rl _ 15; 13svs dti; %deassign terminal code for
rl _ 163 VIsVS dtiy %deassign terminal code for
rl _ 173 1JSYS dti; %deassign terminal code for
rl _ 19; 13135vs dti; %deassign terminal code for
Logp
CASE char _ input() 0OF ,
=EC %~H%, =5ctla: %backspace character%
BEGIN
bxec(51it):;
todco(BC);
END;

< NLS§, FRCETEND.NLS.18, >

~0%
“P%
~S%

36

=CA %"D%, =C. %"B%: %copy remainder of old to new and
terminate alter%

BEGIN

todcol(char):
copych(2000, typefg);
EXIT:

=%ctle! %change source of text to or from keyboard and

END

’

< or >%

1F

insrtf THEN
RECTY

insrtf FALSE:

e

typech(*>);

ZND

01536
01537
0153¢
0153%
01540
01541
01542
01543
01544
01545
01546
01547
01548
01549
01550
01551
01552
01553
01554
01555
01556
01557
01558
01559
01560
01561
01562
01563
01564
02653
02654
02655
02656
02657
02658
01569
01570
01571
01572
01573
01574
01575

01576
01577
01578
01579
01580
01581
type

01582
01583
01584
01585
01586
01587
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ELSE 01588
BERIN 01589
insrtf _ TRUE; 01590
typech(°<); 01591
END 01592

=Sct1f: %copy 1 chr and type% 01593
IF copvch(l) THEN =XIT: 01594
=&ctlg: %skip up thru ¢ and type percent ptr% 01595
IF (numb _ search(input())) THEN skip(numb) 01596
ELSE tyneas(S" ?"); 01597
=Sctlnt %thackspace character in old and new? 01598

BEGIN 01599

bke(51it); 01600

tvpach( ") 01601

sWworkl _ MAX(1, sworkl=1):; 01602

fechcl(forward, Sswork):; 01603

END3 01604

=$ctlo! %copy to c% 01605
IF (numb _ search(input())) THEN copych(numb=-1) 01606
ELSE typeas($8"™ 2?2"); 01607

=&ctlp? %skip up to ¢ and type percent sign % 01606
IF (numh _ search(input())) THEN skip(numb=1) 01609
ELSE typeas(s"™ ?"); 01610

=Sascbst %~Q%: %backspace statement in old and new$ 01611

ERGIN 01612

todco(Saschst); 01613

cr1f(); 01614

*1it* _ NOULL; 01615

CCPOS SF(ptr): 01616

END} 01617

=Sctlr: %retvpe line up to this point% 01618

EEGIN 01619

crlf(); 01620

typeas(51it); 01621

END: 01622

=Sctlst %skip one character on old statement=--type percent?

01623
IF skio(1) THEN EXIT; %end of statement% 01524

=5ctlu: %Scopv thru end of old statementl 01625
copvch(2000); 01626

=BW, =S%ctlw: %backspace word in new? 01627

BEGIN 01628

<NLS, UTILTY, bkwu>(s1lit); 01629

todco(BW) 015630

END 01631

=CD %~X%: 01632

BEGIN 01633

edixqt(); 01634

GOTO STATE; 01635

END: 01636

=S5ctly: ?repeat alter% 01637

BEGIN 01638

copych (2000, typefg); 01639

FIND SF(*1it*) ~z1 SE(*1it*) ~z2: 01640

FIND SF(ptr) "~ptr SE(ptr) ~ptr2; 01641

creptex(sptr, Sptr2, $z1, $z2); 01642
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tda.dacsp _ ptr;
tda.dacent _ 1;
REPEAT(Saschst)}
END:
=5ctlz?: %FTcopy thru c%
IF (numbh _ search(irput())) THEN copvch{numb)
ELSE typeas(s"™ ?");
=Sascalt: % terminate alter$
EXIT:
ENDCASE %other character..insrtf into new%
BEGIN
todco(char):
*1it* _ *1it*, char}
IF NOT insrtf THEM char _ READC:
END:
edixqt();
HETURN;?
END.

{edixaqt) FROCEDURE:
¥reassign the terminal codes%
rl _ 23000001p; %~5%
1J5Y5 ati
rl _ 21000030B; %"Q%
1J8YS ati;
rl _ 20000001B: %~P%
1JSYS ati
rl _ 170000038; %~0%
1J8Ys ati;
rl _ 48B5;
r2 _ 240000004000E; %activate ~S, ~0, "“F, ~Q%
1JS5YS aic;
RETURN BMND.

(copych) PROCEDURE (rumb):
%copy “numb® characters from old to new%
St %
LOCAL char:
UNTIL (pumb := numbh = 1) <= 0 DO
CASE char _ READC OF
=ENDCHR: RETURN(TRUE):
ENDCASE
BEGIN
*1it* _ *11t*, char;
tvpech(char):
END;
RETURN(FALSE);
END.

(search) PROCEDURE (target):

b

38

01643
01644
01645
01646
01647
01648
01649
01650
01651
01652
01653
01654
01655
01656
01657
0165¢
01659

01660
02659
02660
02661
02662
02663
02664
02665
02666
02667
02668
02669
02670
02671

02672
01671
01672
01673
01674
01675
01676
01677
016768
01679
01680
01681
01682
01683

01684
01665

%search old statement for character in target. return numb of

characters away from current swork setting if found, 0 if not

tound%

e m e —————— %

LOCAL count, save, last, char;
count . I3

01686
01687
01688
01689
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save _ swWork(Cl3: 01690
Loce 01691
CASE READC 0OF 01692
= ENDCHR: 026717
BEGIN 02678
sworkl11 _ savep 02679
fechcl(forward, S$swork): 02680
RETURN(FALSE): 02681
END; 02682
= target: 01694
BEGIN 01695
sworkrf1l _ save:; 01696
fechcl (forward, S$swork); 01697
RETURN(count); 01698
END; 01696
ENDCASE BUMP count: 01700
END.
01701
(skip) PROCEDURE (numrh); 01702
%skip a numb of characters in o0ld and type percent signs$ 01703
A e ———————— % 01704
LOCAL last, char:; 01705
UNTIL (numb _ numb = 1) < 0 DO 01706
CASE READC OF 01707
=EMDCHR: RETURN(CTRUE); 01708
ENDCASE tvpech(°%); 01709
RETURN(FALSE); 0171¢
END .
01711
%e0eee STARTUP ROUTINESeese3d 01713
(dstart) % DNLS startup routine % 01714
PRCCEDURE(gs)} 01715
IF nldevice = devlproc THEN 01754
BEGIN 0175%
dsubsys(s" "): 01716
pad{lpxmax): 01758
dn(s" "); 01717
pad(lpxmax); 01756
END3 01757
dpset(dspallf,endfil,endfil,endfil); %set display parameters%
01718
recred();%total recreate display? 01719
LF gs THEN dismes(5000,gs); %put up greetings for 5 seconds% 01720
sunervisor():; 01721
halt(); 01722
END .
01723
(tstart) % TNLS startup routine % 01734
PROCERDURE(gs); 01735
e —————— e % 01736
LOCAL stid: 01737
IF gs THEN %there is a message to print% 01738
BEGTU 01739
crlf(); 01740
typeas(gs); 01741

crlf(); 01742
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END 2 01743

IF exquery THEN guin(nlparse) ELSE supervisor(); %start command
parsings 01744
halt(): % terminate and prepare for re-entry % 01745
ENN. 01746
01747

FINISH of frontend 01748



LRUN DA
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< NLS, GRUNLDR.NLS.16, >, 23=-Apr-78 20:17 JDH ;;:;;

juutput Assembler File (rel-nls,grunldr.txt,) 0e3
CONN REL~NLS 0R4
DA<LESC> 085
<NETSYS>TENLUR 086
/5 087
/13111118 088
/W 0163
/v 089
/111K 090
/4000100 091
PDATA 092
SYNTRX 094
PARSER 095
SELECT 096
PSUPPORT 097
PSEULILT 098
PSSENDMATL 099
PSPRUGS 0100
PSUSEROP 0102
PSSYNGEN 0104
FONLY 0105
PSSYSTEY 0101
PSHELP 0103
FANTNLS 0106
TSPRT 0107
PRMSPC 0108
"POVER 0109
/5540000 0110
UPDATA 0111
/1400 0112
BDATA 0113
FUATA 0114
SDATA 0115
L10DATA 0116
NUDTDATA 093
UNDATA 0117
FCONST 0118
BCONST 0119
FRECURDS 0120
BRECURDS 0121
SRECURDS 0122
L1ORUNTIME 0123
UTILTY 0124
BINTNLS 0125
SINTNLS 0126
CED1T1 01217
CEDITZ 0128
F1LMNP 0129
SEQGEN 0130
FRONTEND 0133
IUEXEC 0135
ADRMNP 0134
CURESUPPORT 0136
CALCSUPPORT 0137

VERLIFY 0138
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SEQFIL
RUXCUD
OPTAR
NDDT 2
CULSRT
RECFIL
IDENTSOPRPORT
CSENUDMAIL
CATNUM
DSPGEN
CSVNGEN
EXECFL
CPROGRAMS
CHELP
LNPFRK
STGMGT
SYNTHL
STENEX
/120R
<ESC>
MERGE <NETSYS>ARCDDT.SAV
ppT

< NLS, GRUNLDR.NLS.16,

MOVE 1,116<ESC>XMOVEM 1,<ESC>I-1<ESC>X

BRKHERCESC>88 HALTFLESC>X

CSAVE <REL-NLS>GNLS.EXE.KESC>0<KESC>T777777

POpP

>

2

0139
0140
0141
0142
0143
0144
0145
0146
0151
0131
0149
0132
0147
0148
0150
0152
0153
0154
0155
0156
0157
0158
0159
0160
0164
01561
0162



